

Examinations Department

Ref: Exam/19/171 March 13, 2020

Declaration of Result

The Official (Provisional) results for the following examinations is declared on March 13, 2020: -

- DPT (19F) –Fall 2019 Semester Examination
- DPT (19S) Fall 2019 Semester Examination
- DPT (18F) Fall 2019 Semester Examination
- DPT (18S) Fall 2019 Semester Examination
- DPT (17F) Fall 2019 Semester Examination
- DPT (17S) Fall 2019 Semester Examination
- DPT (16F) Fall 2019 Semester Examination
- DPT (16S) Fall 2019 Semester Examination
- DPT (15F) Fall 2019 Semester Examination
- DPT (15S) Fall 2019 Semester Examination

Prof. Dr. Muhammad Iqbal

Controller of Examinations

C.C:

- Vice Chancellor
- Registrar
- Dean FPAHS

Result Notification: FALL 2019 DPT (19F) Semester Examinations

		Student Info		Anatomy	-1		Anatomy (LAR)	-1	1	hysiology	/-I		hysiolog (LAB)		К	inestolog	y-I	К	inesiolog (LAB)	r-1	Pal	kistan Stu	odies	Introdu	crion To (omputer	Intraduc	(LAB)	Compate	Engli	sh-l (Fun English)			Res	sult	
			Cr.	. Hrs	3.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr	. Hrs	1.00	Cr	Hrs	2.00	-Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr	Hrs	2.00	Cr.	Hrs	1,00	Cr.	Hrs	3.00				
×±	Exam Roll#	Name	Total (180)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (160)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Tutal Credits Earned	GPA	CGP
1	0478	TANZEEL GHANI	57,00	C-	4.98	64.00	C+	2.33	58.50	C-	3.32	N	Not Enroll	ed	1	ot Enroll	ed	,	lot Enroll	d	,	or Enroll	ed	,	lot Enroll	ed	٨	ot Enroll	ed	N	lot Enroll	ed	10.63	6,00	1.77	1.82
2	0537	LAIBA SAADAT	62.75	c	6.00	64.00	C+	2.33	70.50	В	6.00	74.50	В	3.00	68.50	В-	5.32	75.00	В+	3.33	82.00	Α-	7.32	78.50	B+	6.66	70.00	В	3.00	62.50	C	6,00	48.96	18.00	2.72	2.72
3	0538	MAIRA MURTAZA	74,00	В	9.00	71.00	В	3.00	79.00	B+	6.66	79.50	В+	3.33	75.00	B+	6.66	87.00	A	4.00	95.00	A	8.00	79.70	В+	6.66	90.00	A	4.00	88.50	A	12.00	63.31	18.00	3.52	3.52
4	0539	ZARA MAHNOOR	89.50	٨	12.00	66.00	C+	2.33	78.75	B+	6.66	82.50	Α-	3.66	76.25	B+	6.66	80.00	Λ-	3.66	88.00	Α	8.00	87,30	۸	8.00	75.00	В+	3.33	77.00	B+	9,99	64 29	18,00	3.57	3.57
5	0540	FARRUKH AHMAD ALVI	80.75	A-	10.98	80.00	Α-	3.66	85.00	A	8.00	76.75	B+	3.33	76.75	B+	6.66	80.00	Α-	3.66	84,00	Α-	7.32	86,50	A	8.00	95.00	٨	4.00	81.50	Α-	10.98	66.59	18.00	3.70	3.70
6	0541	IIIBA NASIR	75.50	В+	9.99	80.00	۸-	3.66	79.50	B+	6.66	87.25	Λ	4,00	77.00	B+	6.66	77.00	В+	3.33	75.00	B+	6.66	66,50	C+	4.66	85.00	٨	4.00	80.00	۸-	10.98	60.60	18.00	3.37	3.37
7	0542	MALIHA IRFAN	76.25	B+	9.99	80.00	Α-	3.66	76.50	B+	6.66	83.50	Α-	3.66	75.50	B+	6.66	80,00	Α-	3.66	87.00	A	8.00	80.50	Α-	7.32	90.00	A	4.00	79.50	В	9.99	63.60	18,00	3.53	3.53
8	0543	SABAHATILYAS	88.50	A	12,00	67.00	B-	2.66	80.75	A-	7.32	91,00	A	4.00	76.25	B+	6.66	83.00	Α-	3.66	91.00	A	8.00	83.50	Α-	7,32	80.00	Α-	3.66	78.00	B+	9.99	65,27	18.00	3.63	3.63
9	0544	ANAM BATOOL	68.50	B-	7.98	69.00	В-	2.66	61.75	c	4.00	69.25	В-	2.66	70.25	В	6.00	71.00	В	3.00	83.00	Λ-	7.32	57.20	C-	3.32	70.00	В	3.00	72.00	В	9.00	48.94	18.00	2.72	2.72
10	0545	HAMMADAH SHAFIQ	78.25	B+	9.99	84.00	Α-	3.66	80.50	A-	7.32	84.75	A-	3.66	75.50	В+	6.66	70.00	В	3.00	89.00	A	8.00	77.40	B+	6.66	75.00	В+	3.33	77.50	8+	9.99	62.27	18.00	3.46	3.46
11	0546	HAMNA KHURRAM	64.00	C+	6.99	50,00	D	1.00	58.50	C-	3.32	76.75	B+	3.33	60.50	С	4.00	72.00	В	3.00	69.50	В-	5.32	77.50	B+	6,66	65.00	C+	2.33	67.00	В-	7,98	43.93	18.00	2.44	2.44
12	0547	ASMA ZAHID	76.00	B+	9,99	67.00	В-	2,66	73.25	В	6.00	84.50	Α-	3.66	67.00	В-	5.32	75.00	B+	3.33	88.00	A	8.00	83.70	Α-	7.32	90.00	٨	4,00	78.20	B+	9,99	60.27	18.00	3.35	3.35
13	0548	AREEBA SHAUKAT	82,00	Α-	10.98	78.00	B+	3.33	78.50	B+	6.66	81.75	Α-	3.66	80.25	Α-	7.32	76.00	В+	3.33	85.50	A	8.00	74.50	В	6.00	60,00	c	2.00	76.50	B+	9.99	61,27	18.00	3.40	3.40
14	0549	SANA WAHEED ABBASI	89.50	A	12.00	82.00	A-	3.66	81.50	Α-	7.32	82.50	Α-	3.66	73.50	В	6.00	70.00	В	3.00	84.00	Α-	7.32	81.80	A-	7,32	85.00	A	4.00	75.00	B+	9.99	64.27	18.00	3.57	3.57

Errors & Omissions are Excepted System Generated Result EXAMINATIONS DEPARTMENT DATE DATE

Result Notification: FALL 2019 DPT (19F) Semester Examinations

		Student Info		Anatomy	-1		Anatomy (LAR)		1	'hysielogy	y-I	,	Physiolog (LAB)		Ь	inesialog	1-4	K	(LAB)	y-1	Pa	kistun Str	ndies	Introdu	ction To (Compute	Introdu	(LAB)	Compute		sh-l (Fun English)			Re	esult	
			Cr	. Hrs	3.00	Cr	Hrs	1.00	Cr.	. Hrs	2.00	Cr	. Hrs	1.00	Cr	Hrs	2.00	Cr	Hrs	1.00	Cr	. Hrs	2.00	Cr	. Hrs	2.00	Cr	Hrs	1,00	C'r.	Hrs	3.00				
5#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Toral (190)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP
15	0550	HAMNA SAJID	68.25	В-	7.98	74.00	В	3.00	73.25	В	6.00	81.00	A-	3.66	67.75	В-	5.32	72.00	В	3.00	72.00	В	6.00	71.60	В	6.00	70,00	В	3.00	72.50	В	9.00	52.96	18,00	2.94	2.94
16	0551	ERAJ SHAKEEL	77.50	B+	9.99	75.00	B+	3.33	76.75	B+	6.66	80.50	Α-	3.66	73.75	В	6.00	73.00	В	3.00	87.50	A	8.00	82.00	A-	7.32	85.00	۸	4.00	71.50	В	9.00	60.96	18,00	3.39	3.39
17	0552	LABIBA QAYYUM	85.50	A	12.00	79.00	B+	3.33	75.00	B+	6.66	93.00	A	4.00	80.50	Α-	7.32	83.00	Α-	3.66	89.00	A	8.00	87.80	A	8.00	95.00	A	4.00	81.00	A-	10.98	67.95	18:00	3.78	3.78
18	0553	ALI DANISH RAJPUT	70.00	В	9,00	75,50	В+	3.33	63.75	c	4.00	63.25	c	2.00	71.25	В	6.00	81.00	Λ-	3.66	84.50	Α-	7.32	77.60	B+	6.66	70.00	В	3.00	60.50	С	6.00	50.97	18.00	2.83	2.83
19	0554	SAHAR MUNIR	88.50	A	12.00	83.50	A-	3.66	80.00	Α-	7.32	88.50	A	4.00	77.00	В+	6.66	83.00	Α-	3.66	93.50	A	8.00	76.20	B+	6.66	80.00	A-	3.66	84.50	A-	10.98	66.60	18.00	3.70	3.70
20	0555	FIZZA IMAM	67.00	B-	7,98	71.00	В	3.00	67.50	В-	5.32	80.00	Λ-	3.66	74.00	В	6.00	81.00	Α-	3.66	74.50	В	6.00	75.80	B+	6.66	70.00	В	3.00	84.00	۸-	10.98	56.26	18.00	3.13	3.13
21	0556	MUHAMMAD MAJID MANZOR	59.00	C-	4.98	0.00	F	0.00	70.00	В	6.00	0.00	ľ	0.00	68.75	В-	5.32	0.00	F	0.00	71.50	В	6.00	N	lot Enrolle	ed	0.00	F	0.00	50.00	D	3,00	25,30	12.00	1.58	1.58
22	0557	SIMON SOHAIL	64.50	C+	6.99	72.00	В	3.00	63.25	с	4.00	76.50	В+	3.33	70.50	В	6.00	80.00	A-	3.66	72.00	В	6.00	65.30	C+	4.66	90.00	۸	4.00	67.20	В-	7.98	49.62	18.00	2.76	2.76
23	0558	MUFAZIA FATIMA	62.50	C	6.00	71.00	В	3.00	72.75	В	6.00	76.75	B+	3.33	65.00	C+	4.66	75.00	B+	3.33	77.50	B+	6.66	64.50	C+	4,66	70,00	В	3.00	73.00	В	9.00	49.64	18.00	2.76	2.76
24	0559	KHADIJA IFTIKHAR	86.00	A	12.00	86.00	A	4.00	88.25	A	8.00	88.00	A	4.00	79,00	B+	6.66	85.00	A	4.00	89.00	A	8.00	76.00	B+	6,66	65.00	C+	2.33	75.50	B+	9,99	65.64	18.00	3.65	3.65
25	0560	SADIA SHAHID	73.75	В	9.00	78.00	В+	3.33	63.75	С	4.00	82.75	Α-	3.66	60,50	С	4,00	77,00	В+	3.33	80.50	Λ-	7.32	70.50	В	6.00	65.00	C+	2.33	70.00	В	9.00	51.97	18.00	2.89	2.89
26	0561	LAIBA SAFDAR	43.75	F	0.00	50.00	D	1.00	36.50	F	0.00	56,50	D+	1.33	29.00	F	0.00	60.00	С	2.00	40.50	r	0.00	33.10	P	0.00	75,00	B+	3,33	59.50	C-	4,98	12.64	7.00	0.70	0.70
27	0562	HAFSAH KAMRAN	76.50	В+	9.99	75.00	В+	3.33	65.50	C+	4.66	82.00	Λ-	3.66	67.00	В-	5.32	86.00	A	4.00	78.50	В+	6.66	63.60	С	4.00	65,00	C+	2.33	75.00	B+	9,99	53.94	18.00	3.00	3.00
28	0563	KIIIZRA NADEEM	65.00	C+	6.99	80.00	Α-	3.66	64.25	C+	4.66	72.25	В	3.00	61.00	c	4.00	77.00	B+	3.33	79.00	B+	6.66	63.90	С	4.00	75.00	B+	3.33	73.50	В	9.00	48.63	18.00	2.70	2.70

Errors & Omissions are Excepted System Generated Result EXAMINATIONS DEPARTMENT DATE DATE

Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification : FALL 2019 DPT (19F) Semester Examinations

		Student Info		Anatomy	-1		Anatomy (LAB)	-š	Р	hysiology	g-f	1	hysiology (LAB)	બ	к	inestalog	y-1	к	inesiolog (LAB)	wl.	Pa	kistan Sto	dies	Introdu	ction To C	Compute	Introduc	tion To (Computer		sh-I (Funs English)			Res	suit	
			Cr.	. Hrs	3.00	Cr	Hrs	1.00	Cr.	Hrs	2.00	Cr	Hrs	1.00	Cr	Hrs	2.00	Cr.	Hrs	1.00	Cr	. Hrs	2.00	Cr	Hrs	2,00	Cr	Hrs	1,00	Cr.	. Hrs	3.60				
S#	Exam Roll#		Total (100)	Grade	Point	Total (100)	Grade	Point	Total (190)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (190)	Grade	Point	Total (199)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Tistal Credits Earned	GPA	CGP
29	0564	MAHROSH ZAHRA	58.25	C-	4,98	75.00	В+	3.33	59.75	C-	3.32	64.25	C+	2.33	53.25	D	2,00	64.00	C+	2.33	71.50	В	6.00	51.00	Ď	2.00	75.00	В+	3.33	66,00	C+	6.99	36.61	18.00	2.03	2.03
30	0565	S. MAHEEN ZEHRA	77.25	B+	9.99	75.00	B+	3.33	80.00	Α-	7.32	80.00	Λ-	3.66	75.00	В+	6.66	70.00	В	3.00	¥6,50	A	8.00	82.50	Α-	7.32	95.00	Ā	4.00	72.00	В	9.00	62,28	18.00	3.46	3.46
31	0566	KOMAL AWAN	66.25	C+	6.99	63.00	c	2.00	65.25	C+	4.66	67.25	В-	2.66	58.75	c-	3.32	77.00	В+	3.33	72.50	В	6.00	69.70	В-	5.32	75.00	B+	3.33	69,50	B-	7.98	45.59	18.00	2.53	2.53
32	0567	ANAMTA IMRAN	69.00	B-	7.98	76.00	B+	3.33	71.00	В	6.00	79.25	B+	3,33	72.75	В	6.00	85.00	A	4.00	X0.50	Α-	7.32	75,00	B+	6.66	75.00	B+	3.33	68.50	В-	7.98	55.93	18,00	3.11	3.11
33	0568	MUHAMMAD SALMAN QAHAFA	57.00	Ç-	4.98	69.00	В-	2.66	58.75	C-	3.32	64.00	C+	2.33	57.75	C-	3.32	70.00	В	3.00	67.00	В-	5.32	57.90	C-	3.32	75.00	В+	3.33	55,50	D+	3.99	35,57	18.00	1.98	1.98
34	0569	NAZISH KANWAL	66.50	C+	6.99	80.00	Λ-	3.66	63.25	С	4.00	68.25	В-	2.66	64.00	C+	4,66	80.00	Λ-	3.66	76.50	B+	6.66	67.80	В-	5.32	70.00	В	3.00	61,00	С	6,00	46.61	18.00	2.59	2.59
35	0570	ZAINAB IKRAM	81.25	Α-	10.98	76.00	B+	3.33	76.25	В+	6.66	80.50	Α-	3.66	77.25	В+	6.66	83.00	A-	3.66	78.50	В+	6.66	57.90	c-	3.32	70.00	В	3.00	71.50	В	9.00	56.93	18.00	3.16	3.16
36	0571	ADEENA IQBAL	60.75	С	6.00	69.00	В-	2.66	59.50	C-	3.32	66.00	C+	2,33	58.25	C-	3.32	65.00	C+	2.33	65.00	C+	4.66	54.50	D+	2.66	70.00	В	3.00	76.50	В+	9.99	40.27	18,00	2.24	2.24
37	0572	HIRA SAKHAWAT	66.25	C+	6.99	80.00	Λ-	3.66	64.75	C+	4.66	76.00	B+	3.33	69.00	В-	5,32	82.00	Α-	3.66	63.50	С	4.00	74.40	В	6.00	80.00	A-	3.66	78,00	B+	9,99	51.27	18.00	2.85	2.85
38	0573	HAIQA QURESHI	77.50	B+	9.99	75.00	B+	3.33	73.25	В	6.00	85.00	A	4.00	69.00	В-	5.32	85.00	A	4.00	76.00	В+	6.66	78.00	B+	6.66	85.00	A	4.00	77.00	В+	9.99	59,95	18.00	3.33	3.33
39	0574	AREEBA ARSHAD	54.25	D+	3.99	57.00	c-	1.66	59.50	C-	3.32	72.00	В	3,00	56,50	D+	2.66	73.00	В	3.00	63.00	с	4.00	58.60	C-	3,32	60.00	С	2.00	65.50	C+	6.99	33.94	18,00	1.89	1,89
40	0575	MALAIKA KHAN	70.25	В	9.00	74.00	В	3.00	77.00	B+	6.66	72.50	В	3.00	68.25	В-	5.32	80.00	Α-	3.66	82.00	Α-	7.32	68.50	В-	5.32	75.00	B+	3.33	65.30	C+	6.99	53.60	18.00	2.98	2.98
41	0576	HOOR TAMSEEL CHOHAN	70.75	В	9.00	70.00	В	3.00	72.50	В	6.00	84.25	Λ-	3.66	72.00	В	6.00	81.00	Λ-	3.66	69.50	В-	5.32	72.50	В	6.00	75.00	В+	3.33	71.00	В	9.00	54.97	18.00	3,05	3.05
42	0577	NATASHA AMJAD	65.00	C+	6.99	74.00	В	3.00	70.00	В	6.00	82.25	Α-	3.66	72.25	В	6.00	83.00	Α-	3.66	84.00	Α-	7.32	66.00	C+	4.66	60.00	С	2,00	74.00	В	9.00	52.29	18.00	2.91	2.91

Errors & Omissions are Excepted System Generated Result

Result Notification: FALL 2019 DPT (19F) Semester Examinations

		Student Info		Anatomy	-1		Anatomy (LAB)		1	hysiology	/~I	1	hysiology (LAB)	-1	K	inesiolog	y-i	K	inesiolog (LAB)	y-1	Pal	cistan Stu	adies	Introduc	ction To (Computer	Introduc	tion To ((LAB)	Compute	Engli	sh-l (Fun English)			п	esolt	
			Cr	Hrs	3.00	Cr	. Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Brs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	3.00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP
43	0578	LAYEBA USMAN	67.25	В-	7.98	69.00	B-	2.66	67.25	В-	5.32	69.75	B-	2.66	65.50	C+	4.66	65.00	C+	2.33	83.00	A-	7.32	64.30	C+	4.66	65.00	C+	2.33	62.30	С	6.00	45.92	18,00	2.55	2.55
44	0579	MADIHA SHAHEEN	61.25	С	6.00	65.00	C+	2.33	56.00	D+	2.66	67.25	В-	2.66	61.25	с	4.00	70.00	В	3.00	75.00	B+	6.66	52.30	D	2.00	65.00	C+	2.33	63.50	С	6.00	37.64	18,00	2.09	2.09
45	0580	DUA YASIN	69.25	В-	7.98	66.50	C+	2.33	54.25	D+	2.66	70.75	В	3.00	69.00	В-	5.32	75.00	B+	3.33	75,00	B+	6.66	69.60	В-	5.32	70.00	В	3.00	72.00	В	9.00	48.60	18.00	2.70	2.70
46	0581	HAFSA ARIF	75,50	B+	9,99	82.00	Λ-	3.66	75.50	B+	6.66	79.00	B+	3.33	75,75	B+	6.66	76.00	В+	3.33	86,50	۸	8.00	76.50	B+	6,66	70,00	В	3,00	79.00	B+	9.99	61.28	18.00	3,40	3.40
47	0582	MAHNOOR NASIM	59.50	C-	4.98	82.00	A-	3.66	56.50	D+	2.66	69,50	В-	2.66	60.50	С	4.00	70.00	В	3.00	75.00	B+	6.66	59.90	C-	3,32	70.00	В	3,00	62.00	С	6.00	39.94	18.00	2.22	2.22
48	0583	TEHREEM KHALID	79.50	B+	9.99	73.00	В	3.00	68.75	B-	5.32	79.50	В+	3.33	71.25	В	6.00	83.00	Λ-	3.66	76.50	B+	6.66	74.20	В	6.00	80.00	۸-	3.66	76.00	B+	9.99	57.61	18.00	3.20	3.20
49	0584	LARAIB WAHEED	60.75	С	6.00	62.00	c	2.00	55.75	D+	2.66	76.50	B+	3.33	56.25	D+	2.66	80.00	A-	3.66	71.00	В	6.00	52.00	D	2.00	70.00	В	3.00	62.00	C	6.00	37.31	18.00	2.07	2.07
50	0585	AIEMEN RAZZAQ CH	60.25	С	6.00	59.00	C-	1.66	60.00	c	4.00	72.50	В	3.00	61.25	Ċ	4.00	80.00	Α-	3.66	79.00	B+	6.66	64.10	C+	4,66	75.00	B+	3.33	60.50	С	6.00	42.97	18.00	2.39	2.39
51	0586	LAMIA ANWAAR	60.00	С	6.00	79.00	В+	3.33	67.75	B-	5.32	81.25	Α-	3.66	58.00	C-	3.32	75.00	B+	3.33	75.50	B+	6.66	62.00	С	4.00	80.00	Λ-	3.66	66.50	C+	6.99	46.27	18.00	2.57	2.57
52	0587	MAHEEN TAUQEER	57.50	C-	4.98	56.00	D+	1.33	62.25	С	4.00	73.50	В	3.00	58.00	C-	3.32	71.00	В	3.00	68.50	В-	5.32	44.50	F	0.00	65.00	C+	2.33	58.50	C-	4.98	32.26	16.00	1.79	1.79
53	0536	SANA AFZAAL BHATTI	1	Not Enroll	ed	1	Not Enroll	ed	N	ot Enrolle	ed	N	ot Enrolle	ed	N	ot Enrolle	ed	N	ot Enrolle	d	N	ot Enrolle	ed	N	ot Enrolle	d	N	ot Enrolle	d	56.50	D+	3,99	3.99	3.00	1,33	2,52

gr.



Result Notification: FALL 2019 DPT (19S) Semester Examinations

		Student Info				P	hysiology	-11	Ph	ysiology (LAB)		K	nesiology	;-II	К	nesiology (LAB)	/-II		Sociolog	у	Íslam	ic Studies	Æthics		English-l		.4	Anatomy	-11		Re	sult	
			Cr.	Hrs	1.00	Cr.	Not Enrolled Not	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1,00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	3.00	Ćr.	Hrs	3.00				-		
S#	Exam Roll#	Name	Total (100)	(I.AB)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP					
1	0169	ANUM NISAR	N	ot Enrol	led	N	Not Enrolled Not	ot Enrolle	ed	٨	ot Enrolle	ed	٨	ot Enroll	ed	N	lot Enroll	ed	86.00	A	8.00	N	ot Enroll	ed	N	lot Enrol	ed	8,00	2.00	4.00	3.06		
2	0319	USWA EHSAN	N	ot Enrol	led	Total (189) Grade (189)	ot Enrolle	ed	N	lot Enrolle	ed	N	ot Enrolle	ed	89.75	A	8.00	N	lot Enroll	ed	N	lot Enrolle	ed	N	lot Enroll	ed	8.00	2.00	4.00	3.77			
3	0365	HAREEM IRAJ	N	ot Enrol	led	N	Not Enrolled Not Er .50 B+ 6.66 80.00 A Not Enrolled Not Er	ot Enrolle	ed	53.10	D	2.00	N	ot Enroll	ed	N	ot Enroll	ed	N	ot Enroll	ed	N	ot Enrolle	ed	N	lot Enroll	ed	2.00	2.00	1.00	2.38		
4	0372	SAIRA ABID	N	ot Enrol	Not Enrolled No	ed	N	lot Enrolle	ed	N	ot Enrolle	ed	N	ot Enroll	ed	N	lot Enroll	ed	N	lot Enrolle	ed	62.70	C	6.00	6.00	3.00	2.00	2.06					
5	0478	TANZEEL GHANI	80.00 A- 3.66 Not Enrolled Not Enrolled Not Enrolled Not Enrolled						N	ot Enrolle	ed	N	ot Enrolle	ed	N	ot Enroll	ed	N	lot Enroll	ed	N	lot Enrolle	ed	61.90	С	6.00	9.66	4.00	2.42	1.82			
6.	0406	KHADIJA	Not Enrolled Not Enrolled Not Enrolled Not Enrolled Not Enrolled Not Enrolled 80.00 A- 3.66 Not Enrolled Not Enrolled Not Enrolled Not Enrolled Not Enrolled Not Enrolled 86.00 A 4.00 79.50 B+ 6.66 80.00 A- 3.60 Not Enrolled Not Enrolled Not Enrolled Not Enrolled					ed	N	ot Enrolle	ed	N	ot Enrolle	ed	N	ot Enroll	ed	N	lot Enroll	ed	N	fot Enrolle	ed	62.40	С	6.00	6,00	3.00	2.00	2.37			
7	0588	HAJRA SANI	Not Enrolled Not Enrolled Not Enrolled 80.00 Λ- 3.66 Not Enrolled Not Enrolled Not Enrolled Not Enrolled Not Enrolled 86.00 Λ 4.00 79.50 B+ 6.66 80.00 Λ- 3.66					3.66	78.80	В+	6.66	78.00	B+	3,33	90.75	Α	8.00	94.50	Α	8.00	72.50	В	9.00	82.30	Λ-	10.98	60,29	17.00	3.55	3.55			
8	0591	MUNIBA TANVEER	Not Enrolled Not Enrolled Not Enrolled 86.00 A 4.00 79.50 B+ 6.66 80.00 A- 3 ER Not Enrolled Not Enrolled Not Enrolled Not Enrolled						ed	N	ot Enrolle	ed	N	ot Enrolle	ed	81.25	Α-	7.32	N	ot Enroll	ed	N	ot Enrolle	ed	N	ot Enroll	ed	7.32	2.00	3.66	3.09		
9	0495	HADIA RAZA	80.00	Α-	3.66	78.00	В+	6.66	87.00	A	4.00	74.50	В	6.00	80.00	Α-	3.66	83.75	Α-	7.32	78.50	B+	6.66	76.50	B+-	9.99	82.80	Α-	10.98	58.93	17.00	3,47	3.15
10	0496	QURAT-UL-AIN	86.00	Λ	4.00	66.00	C+	4.66	80.00	Α-	3.66	68.90	В-	5.32	78.00	B+	3.33	84.00	Α-	7.32	83.00	Λ-	7.32	72.00	В	9.00	80.80	Λ-	10.98	55.59	17.00	3.27	3.06
11	0497	MUHAMMAD JAWAD	87.00	A	4.00	71.75	В	6.00	70.00	В	3.00	67.50	В-	5.32	75.00	B+	3.33	78.75	B+	6.66	87.00	Α	8.00	76.50	B+	9.99	82.10	Α-	10.98	57.28	17.00	3.37	3.15
12	0498	AREEJ KHAN	76.00	B+	3.33	85.75	Α	8,00	85.00	A	4.00	73.30	В	6.00	77.00	B+	3.33	86.75	۸	8.00	92.50	Α	8.00	79.00	В+	9.99	77.40	B+	9.99	60.64	17.00	3.57	3.40
13	0499	MALEEHA NASEER	73.50	В	3.00	50.50	Total (100) Grade (100) Point Total (100) Not Enrolled Not 79.50 B+ 6.66 80.00 Not Enrolled Not 78.00 B+ 6.66 87.00 66.00 C+ 4.66 80.00 71.75 B 6.00 70.00 85.75 A 8.00 85.00 50.50 D 2.00 70.00	В	3.00	52,50	D	2.00	70.00	В	3.00	70.75	В	6.00	76.50	B+	6.66	65.50	C+	6.99	68.10	В-	7.98	40.63	17.00	2.39	2.34		
14	0500	ALISHPA SAJID	88.00	Λ	4.00	64.00	C+	Point Total (100) Colled Not olled Not 6.66 87.00 4.66 80.00 6.00 70.00 8.00 85.00	B+	3.33	68.30	B-	5.32	72.00	В	3.00	85.25	Α	8.00	76.50	B+	6.66	78.00	B+	9.99	71.00	В	9.00	53.96	17.00	3.17	3.03	

Errors & Omissions are Excepted System Generated Result

EXAMINATIONS DEPARTMENT

Result Notification: FALL 2019 DPT (19S) Semester Examinations

		Student Info	A	natomy- (LAB)	11	P	hysiology	-11	Pi	(LAB)	-II	К	inestology	y-11	К	(LAB)	y-11		Sociolog		Íslami	c Studies	Ethics.		English-l			Anatomy-	11		Re	cant	
			Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	2,00	Cr.	Hrs	3.00	Cr.	Hrs	3.00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (190)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP
15	0501	FATIMA TARIQ	91.00	A	4.00	91.00	A	8.00	90.00	A	4.00	93.70	A	8.00	89.00	A	4.00	91.75	A	8.00	97.50	A	8.00	78.50	B+	9.99	96.00	A	12.00	65.99	17.00	3.88	3.85
16	0502	SYEDA ABEERA ANWER	88.00	А	4.00	89.25	A	8.00	88.00	A	4.00	82.40	А-	7.32	80.00	Α-	3.66	92.50	A	8.00	95.00	A	8.00	84,00	A-	10.98	90.70	A	12.00	65.96	17.00	3.88	3.83
17	0503	ALIHA BATOOL	85.00	٨	4.00	90,00	۸	8,00	88.00	۸	4.00	89.30	٨	8.00	85.00	٨	4.00	90.50	A	8.00	96.50	۸	8.00	75.50	B+	9,99	86.80	٨	12.00	65.99	17.00	3.88	3.59
18	0505	SAWEERA TANVEER	75.50	B+	3.33	74.75	В	6.00	80.00	A-	3.66	67.10	B-	5.32	73.00	В	3.00	75.75	B+	6.66	83.50	Α-	7.32	78.50	B+	9.99	79.20	B+	9,99	55.27	17.00	3.25	3.03
19	0506	NOOR UL AIN	81.00	Λ-	3.66	75.75	B+	6.66	85.00	Α	4.00	68.30	В-	5.32	76.00	B+	3,33	78.75	B+	6.66	85.50	Λ	8.00	75.00	B+	9,99	79.60	B+	9.99	57.61	17.00	3.39	2.94
20	0507	AMNA BATOOL	89.00	A	4.00	90.25	A	8.00	89.00	A	4.00	90.20	A	8.00	84.00	A-	3.66	91.25	A	8.00	95.00	A	8.00	80.50	A	10.98	84.00	λ-	10.98	65.62	17.00	3.86	3.67
21	0508	IQRA NAEEM	91.00	Α	4.00	84.50	Α-	7.32	86.00	Α	4.00	84.30	A-	7.32	87.00	Λ	4.00	78.75	B+	6.66	88.50	Λ	8.00	80.50	۸-	10.98	95.00	Λ	12.00	64.28	17,00	3.78	3.55
22	0509	NAYAB IMRAN	80.00	A-	3.66	81.00	Α-	7.32	86.00	A	4.00	76.60	B+	6.66	85.00	A	4.00	84.25	Á-	7.32	89.50	A	8.00	73.00	В	9.00	77.90	B+	9,99	59.95	17.00	3.53	3.22
23	0510	FARRAH GARDEZI														R	esult	Withh	eld														
24	0511	RAFIA TAHIR	85.00	A	4.00	75.50	B+	6.66	80.00	Α-	3.66	66.60	C+	4.66	74.00	В	3,00	85.00	A	8.00	82.00	Λ-	7.32	74.50	В	9.00	76.10	B+	9,99	56.29	17.00	3.31	3.01
25	0512	SOHERA NADEEM	86.50	A	4.00	82.75	Α-	7.32	82.00	Α-	3.66	71.00	В	6.00	70.00	В	3.00	81.00	A-	7.32	88,50	A	8.00	73.00	В	9.00	77.40	B+	9.99	58.29	17.00	3.43	3.08
26	0514	AQSA ZAMIR	83.50	Α-	3.66	72.25	В	6.00	78.00	B+	3.33	75.70	B+	6,66	77.00	B+	3.33	83.25	Λ-	7.32	87.00	Α	8.00	73.00	В	9.00	73.80	В	9.00	56.30	17.00	3.31	3.05
27	0515	AREESHA ZULFIQAR	90.00	А	4.00	91.25	A	8.00	86.00	A	4.00	87.25	A	8.00	79.00	B+	3.33	89.00	A	8.00	88.00	A	8.00	83.50	A-	10.98	88.70	A	12.00	66.31	17,00	3.90	3.56
28	0516	AQSA ZULFIQAR	75.50	B+	3,33	75.25	B+	6.66	77.00	B+	3.33	72.60	В	6.00	71.00	В	3,00	81.50	A-	7.32	83.50	A-	7.32	69.50	В-	7.98	82.70	Α-	10.98	55.92	17.00	3.29	3.06

Errors & Omissions are Excepted System Generated Result EXAMINACIONS DEPARTMENT DATE

Result Notification: FALL 2019 DPT (19S) Semester Examinations

		Student Info	A	natomy- (LAB)		P	hysiology	-11	P	(LAB)	-11	K	inesiology	y-11	K	nesiology (LAB)	-ti		Sectolog	y	Islam	ic Studies	/Ethics		English-l nunicatio		7	atomy-	ii .		Re	esult	
			Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1,00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	3.00	Cr	Hrs	3.00				
8#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Puint	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGPA
29	0517	HAMAD ALI	71.00	В	3.00	70.25	В	6.00	78.00	B+	3.33	67.60	В-	5.32	69.00	В-	2.66	77.50	B+	6.66	81.00	Α-	7.32	67.50	В-	7.98	73.90	В	9.00	51.27	17.00	3.02	2.86
30	0518	FIZA ATIMED	82.00	A-	3.66	88.50	A	8.00	87.00	A	4.00	82.90	Α-	7,32	78.00	B+	3.33	90.50	A	8.00	92.00	A	8.00	82.00	A-	10.98	89.40	A	12.00	65.29	17.00	3.84	3.56
31	0519	AIMEN MALIK	81.00	۸-	3.66	82.50	Λ-	7.32	79.50	B+	3.33	77.90	B+	6.66	76.00	B+	3.33	86.00	٨	8.00	89.00	۸	8.00	75.00	B+	9.99	84.90	Λ-	10.98	61.27	17.00	3,60	3.44
32	0521	TOOBA AFTAB	79.00	B+	3.33	75.50	B+	6.66	85.00	A	4.00	80.30	Α-	7.32	80.00	A-	3.66	84.25	A-	7.32	86.50	A	8.00	71.00	В	9.00	77.00	B+	9.99	59.28	17.00	3.49	3.05
33	0522	LAIBA RASHEED NIAZI	65,50	C+	2.33	63.50	С	4.00	74.00	В	3.00	57.00	C-	3.32	68.00	B-	2.66	74.00	В	6.00	81.00	۸-	7.32	70.50	В	9.00	68.60	В-	7.98	45.61	17.00	2.68	2.32
34	0523	WANIA JAHANGIR	89.00	A	4.00	83.75	Α-	7.32	80.00	Α-	3.66	75.40	B+	6.66	75.00	B+	3.33	90.00	A	8.00	86.00	A	8.00	75.50	B+	9.99	84.70	Α-	10.98	61.94	17.00	3.64	3.46
35	0524	DURR-E-NAJAF	88.00	A	4.00	79.25	B+	6.66	85.00	A	4,00	86.00	A	8.00	78.00	B+	3.33	87.75	٨	8.00	92.00	۸	8.00	81.50	Λ-	10.98	85.50	Λ	12.00	64.97	17.00	3.82	3.61
36	0525	IQRA RAFI	85,50	Α	4.00	85.25	A	8.00	89.00	۸	4.00	81.60	Α-	7.32	76.00	B+	3.33	89.00	A	8.00	96.00	A	8,00	83.50	Α-	10.98	80,80	A-	10.98	64.61	17.00	3.80	3.40
37		SAYED HASSAN BACHA	77.00	B+	3.33	58.75	C-	3.32	77.00	B+	3.33	50.90	D	2.00	70.00	В	3.00	66.25	C+	4.66	81.00	A-	7.32	65.00	C+	6.99	67.90	В-	7.98	41.93	17.00	2.47	2.31
38	0528	SADIA SAMEEN	88.00	٨	4.00	80.50	Λ-	7.32	85.00	A	4.00	84.20	Α-	7.32	80.00	Λ-	3.66	84.00	۸-	7.32	92.50	۸	8.00	76.50	B+	9.99	85.60	Λ	12.00	63.61	17.00	3.74	3.50
39	0529	SANA KAYANI	90.00	A	4.00	78.75	B+	6.66	80.00	Α-	3.66	75,40	B+	6.66	78.00	B+	3,33	87.00	A	8.00	83.50	Α-	7.32	79.00	B+	9.99	85.50	A	12.00	61.62	17.00	3.62	3.59
40	0530	AREEJ MAZHAR	86.00	٨	4.00	82.50	Α-	7.32	85.00	۸	4.00	79.50	B+	6.66	82.00	۸-	3,66	87.25	٨	8.00	85.00	٨	8.00	78.50	B÷	9.99	82.70	۸-	10.98	62.61	17.00	3.68	3.50
41	0531	AYESHA LIAQUAT	88.00	A	4.00	70.00	В	6.00	80.00	Α-	3.66	76.60	B+	6.66	77.00	B+	3.33	87.75	A	8.00	83.50	A-	7.32	81.50	A-	10.98	79.00	B+	9.99	59.94	17.00	3.53	3.22
42	0532	RABBIA ZAHOOR	74.00	В	3.00	68.75	В-	5.32	80.00	Α-	3.66	78.50	B+	6.66	76.00	B+	3.33	79.00	B+	6.66	82.00	۸-	7.32	69.00	В-	7.98	78.10	B+	9.99	53.92	17.00	3.17	2.80

Errors & Omissions are Excepted System Generated Result EXAMENATIONS DEPARTMENT DEPARTMENT DATE DATE

Result Notification: FALL 2019 DPT (19S) Semester Examinations

		Student Info	,	Anatomy- (LAB)	11	P	hysiology	-11	P	(LAB)	-П	K	inesiology	y-11	K	(LAB)	H-		Sociolog	y	Islami	ic Studies	/Ethics		English-l		J	Anatomy-	tr		Re	sult	
			Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Rrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	3.00	Cr.	Hrs	3.00				
S#	Exam	m # Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP/
43	053	3 MUNAZA RIAZ	85.00	A	4.00	76.00	B+	6.66	78.00	B+	3.33	70.70	В	6.00	79.00	B+	3.33	82.25	Α-	7.32	84.00	Α-	7.32	76.50	B+	9.99	74.20	В	9.00	56.95	17.00	3.35	3.01
44	0534	4 EEMAN HAIDER	83.00	Α-	3.66	69.00	B-	5.32	78.00	B+	3.33	60.60	С	4.00	75.00	B+	3.33	80.75	Α-	7.32	85.00	A	8.00	76.50	B+	9.99	71.70	В	9.00	53.95	17.00	3.17	2.88
45	053	SANA AFZAAL BHATTI	1	ot Enroll	ed	N	lot Enrolle	ed	N	lot Enrolle	ed	1	Not Enroll	ed	N	ot Enrolle	ed	N	ot Enroll	ed	67.50	В-	5.32	N	ot Enrolle	ed	N	lot Enrolle	ed.	5.32	2.00	2.66	2.52





Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification: FALL 2019 DPT (18F) Semester Examinations

		Student Info	A	natomy (LAB		ų	hysiolog	y-III	Pì	ysiology (LAB)		M	edical Ph	ysics	Me	dical Phy (LAB)	vsics	Bi	ochemist	ry-l		mechani gonomic			sh-III (Te g & Pres Skills)		A	anatomy-	iii.		Re	sult	
			Cr.	Hrs	1.00	Ci	, Hrs	2.00	Cr.	Hrs	1.00	Cr	. Hrs	2.00	Cr.	Hrs	1,00	Cr.	Hrs	2.00	Cr.	Hrs	3.00	.Cr.	Hrs	3,00	Cr.	Hrs	2.00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Point Total (100) Grade Point Not Enrolled Not Enrolled 2.00 Not Enrolled	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP		
1	0317	MARIA NAEEM	N	ot Enro	lled		Not Enro	lled	Not Enrolled Not Enrolled			1	Not Enroll	ed	90.00	А	4.00	N	ot Enroll	ed	N	ot Enroll	ed	N	ot Enroll	ed	N	ot Enroll	ed	4.00	1.00	4.00	3.54
2	0372	SAIRA ABID	N	lot Enro	lled	3	Not Enro	lled	N	lot Enroll	led	1	Not Enroll	led	N	lot Enroll	ed	N	lot Enroll	ed	N	ot Enroll	ed	N	lot Enroll	ed	63.70	с	4.00	4.00	2.00	2.00	2.06
3	0335	NAZIA NIAZ PITAFI	N	lot Enro	lled	50.00	Not Enrolled Not Enrol				ed	45.70	F	0.00	٨	lot Enroll	ed	N	lot Enroll	ed	43.60	F	0.00	N	ot Enroll	ed	53.70	D	2.00	4.00	4.00	0.44	1.66
4	0440	IQRA IKRAM	73.00	В	3.00	80.35	A-	7.32	80.00	Α-	3.66	85.40	A	8,00	75.00	B+	3.33	68.90	B-	5.32	72.65	В	9.00	90.15	A	12.00	79.40	B+	6.66	58.29	17.00	3.43	3.37
5	0441	ZAINUB RASHEED	80.00	۸-	3.66	83.85	Λ-	7.32	85.00	٨	4.00	92.75	٨	8.00	76.00	B+	3.33	94,60	Λ	8.00	87.20	٨	12.00	87.70	٨	12.00	88.30	٨	8.00	66.31	17.00	3.90	3.75
6	0442	ISMAT ZAHRA	80.00	Α-	3.66	66.80	C+	4.66	75.00	B+	3.33	83.15	Α-	7.32	80.00	Α-	3.66	64.10	C+	4.66	63.25	С	6.00	80.95	Α-	10.98	80.30	Α-	7.32	51.59	17.00	3.03	2.87
7	0443	FABEHA NAFEES	76.50	B+	3.33	73.25	В	6.00	76.00	B+	3.33	81.15	Α-	7.32	74.00	В	3.00	77.20	B+	6.66	69.30	В-	7.98	79.40	B+	9,99	74.65	В	6.00	53.61	17.00	3,15	3.26
×	0444	MUHAMMAD AWAIS	82.00	A-	3.66	80.75	Α-	7.32	87.00	A	4.00	85.05	A	8.00	81.00	Α-	3.66	69,20	В-	5.32	70.50	В	9.00	85.55	A	12.00	82.70	Α-	7.32	60.28	17.00	3.55	3.58
9	0445	NAGEENA BIBI	82.00	Α-	3.66	66.15	C+	4.66	72.00	В	3.00	72.50	В	6.00	71.00	В	3.00	64.50	C+	4.66	59.25	C-	4.98	86.50	A	12.00	77.30	B+	6.66	48.62	17.00	2.86	2.96
10	0446	MAHNOOR ALAM	82.00	Λ-	3.66	69,60	В-	5.32	76.00	B+	3.33	77.75	B+	6.66	89.00	A	4.00	63,30	С	4.00	66.50	C+	6.99	81.40	Α-	10.98	78.80	B+	6.66	51.60	17.00	3.04	3.00
11	0447	HAMNA REHMAN	76.00	B+	3.33	57.80	c.	3.32	71.00	В	3.00	67.65	В-	5.32	76.00	B+	3.33	23.80	p	0,00	51.75	D	3.00	74.75	В	9.00	68,90	В-	5.32	35.62	15.00	2.10	2.32
12	0448	FAIZA BANO	75.00	B+	3.33	78.50	B+	6.66	80.00	Λ-	3.66	87.90	٨	8.00	80.00	Λ-	3.66	74.50	В	6.00	75.50	B+	9,99	77.95	B+	9,99	87.60	٨	8.00	59.29	17.00	3.49	3.13
13	0450	AYESHA KHALID	81.00	Α-	3.66	63.00	C	4.00	72.00	В	3.00	75.50	B+	6.66	79.00	B+	3.33	53.50	D	2.00	54.58	D+	3.99	87.20	A	12,00	73.95	В	6.00	44.64	17.00.	2.63	2.38
14	0451	AYESHA BASIT	70.00	В	3.00	59.50	C-	3.32	73.00	В	3.00	62.00	С	4.00	73.00	В	3,00	57.20	C-	3.32	54.05	D+	3.99	72,10	В	9.00	60.95	С	4.00	36.63	17.00	2.15	2.18

Errors & Omissions are Excepted System Generated Result

EXAMINATIONS DEPARTMENT

Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification : FALL 2019 DPT (18F) Semester Examinations

		Student Info		(LAB)	II	Pl	rysiology-	m	Ph	ysiology- (LAB)	m	Me	dical Phy	vsies	Me	dical Phy (LAB)	sics	Bi	ochemisu	y-I		mechanic rgonomic			h-III (Te g & Pres Skills)	chnical entation	A	natomy-	m		Re	sult	
			Cr.	Hrs	1.00	Cr.	Hrs	2,00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1,00	Cr.	Hrs	2.08	Cr.	Hrs	3.00	Cr.	Hrs.	3.00	Cr.	Hrs	2,00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (190)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP.
15	0452	SALWA HABIB MALIK	83.00	Α-	3.66	70.80	В	6.00	71.00	В	3.00	87.00	А	8.00	80.00	Α-	3.66	80.90	Α-	7,32	77.95	B+	9.99	89,20	A	12.00	79.35	В+	6.66	60.29	17.00	3.55	3.05
16	0453	MAHAM TAIIIR	77.00	В+	3.33	69.30	В-	5.32	80.00	A-	3.66	81.25	A-	7.32	77.00	B+	3,33	64.90	C+	4.66	69.25	В-	7.98	81.70	Α-	10.98	78.30	В+	6.66	53.24	17.00	3,13	2.96
17	0454	SAWERA WAЛD	82.00	Λ-	3.66	55.80	D+	2.66	81.00	۸-	3.66	72.00	В	6,00	74.00	В	3.00	60.10	c	4.00	50.00	D	3,00	76.60	B+	9,99	63.90	С	4.00	39.97	17.00	2.35	2.50
18	0455	TUBA ARSHAD	83.00	Α-	3,66	77.60	B+	6.66	87.00	A	4.00	90.00	A	8.00	90.00	А	4.00	84.60	Α-	7.32	81.60	Α-	10.98	89.85	A	12.00	85.80	A	8.00	64.62	17.00	3.80	3.55
19	0456	MISBAH MASOOD	78.00	B+	3.33	78.05	В+	6.66	85.00	٨	4.00	83.70	Α-	7.32	87.00	Α	4.00	58.60	c-	3.32	72.10	В	9.00	89.40	٨	12.00	76.35	B+	6.66	56.29	17.00	3.31	3,46
20	0457	MAHNOOR ANSARI	83.00	Α-	3.66	63.55	С	4.00	85.00	A	4.00	78.75	B+	6.66	77.00	B+	3.33	75.40	B+	6.66	73.08	В	9.00	74.65	В	9.00	77.95	B+	6.66	52,97	17.00	3,12	2.85
21	0459	ALEYSHA ZEB	66.00	C+	2.33	59.45	c.	3.32	81.00	Α-	3.66	69.00	В-	5.32	79.00	B+	3.33	52.30	D	2.00	46.08	ŗ	0.00	76.95	В+	9.99	58.75	c.	3,32	33.27	14.00	1.96	2,18
22	0460	FATIMA SHAHAB	76.00	B+	3.33	63.15	С	4.00	80.00	A-	3.66	81.15	Α-	7,32	77.00	B+	3.33	60.70	С	4.00	57.80	C-	4.98	72.60	В	9.00	75.15	В+	6.66	46.28	17.00	2.72	2.74
23	0461	RIMSHA NAVEED	83.00	Α-	3.66	64.40	C+	4.66	85.00	A	4.00	79.90	B+	6.66	70.00	В	3,00	64.70	C+	4.66	52.80	D	3.00	82.70	Α-	10.98	69.45	В-	5.32	45.94	17.00	2,70	2.39
24	0462	NAEEMA КНАТТАК	80.00	Α-	3.66	58.35	C-	3.32	81.00	Λ-	3.66	62.00	С	4.00	72.00	В	3.00	50.60	D	2.00	56.75	D+	3.99	68.25	В-	7.98	64.40	C+	4.66	36.27	17.00	2.13	2.31
25	0463	JAWERIA SHABBIR	80.00	Α-	3.66	56.60	D+	2.66	80.00	A-	3.66	74.25	В	6.00	83.00	Α-	3.66	51.80	D	2.00	59.65	c-	4.98	72.75	В	9.00	76.35	B+	6.66	42.28	17.00	2.49	2.45
26	0464	MEHREEN RAZA	80.00	۸-	3.66	79.85	B+	6.66	86.00	٨	4.00	85.90	۸	8,00	87.00	۸	4.00	74.00	В	6.00	77.06	B+	9.99	88.65	٨	12.00	82.50	Λ-	7.32	61.63	17.00	3,63	3.43
27	0465	AYESHA KHAN	71.00	В	3.00	62.35	С	4.00	85.00	A	4.00	67.75	В-	5.32	74.00	В	3.00	50.70	D	2.00	55.00	D+	3.99	75.95	B+	9.99	68.60	В-	5.32	40.62	17,00	2,39	2.40
28	0466	MUNEEB BIN MUJAHID	83.00	۸٠	3.66	57.80	c-	3.32	70.00	В	3.00	62,15	С	4.00	72.00	В	3.00	N	lot Enrolle	ed	53.83	D	3.00	70.80	В	9.00	67.50	B-	5.32	34.30	15.00	2.29	2.48

Result Notification: FALL 2019 DPT (18F) Semester Examinations

		Student Info	A	natomy- (I.AB)	ш	PI	ysiology-	-m	Pì	(LAB)	-f11	Ме	dical Phy	ysics	Me	dical Phy (LAB)	/sics	Bi	ochemist	ry-l		mechani rgonomic			h-III (Te g & Pres Skills)		A	matomy-	m		Re	sult	
			Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr,	Hrs	2.00	Cr.	Hrs	3,00	Cr.	Hrs	3,00	Cr.	Hrs	2.00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Gvade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GP.A	CGP.
29	0467	MARIAM SAMUEL	80.00	Α-	3.66	66.00	C+	4.66	70.00	В	3.00	88.25	A	8.00	71.00	В	3.00	55.60	D+	2.66	63.00	С	6.00	78.20	B+	9.99	73.10	В	6.00	46.97	17.00	2.76	2.90
30	0468	SHEIKH HAMZA AMJAD	81.00	А-	3.66	59.00	C-	3.32	85.00	A	4.00	72.60	В	6.00	77.00	B+	3.33	62.60	С	4.00	55.05	D+	3.99	64.65	C+	6.99	70.80	В	6.00	41.29	17.00	2.43	2.33
31	0469	HAFIZA TAHREEM AMANAT	66.00	C+	2.33	54.65	D+	2.66	76.00	B+	3.33	69.90	В-	5.32	70.00	В	3.00	66.30	C+	4.66	52.25	D	3.00	58.50	C-	4.98	68.80	В-	5.32	34.60	17.00	2.04	2.19
32	0470	SARA MARRIUM	72.00	В	3.00	74.45	В	6.00	77.00	B+	3.33	73.90	В	6,00	77.00	B+	3.33	66.80	C+	4.66	69.80	В-	7.98	85.30	A	12.00	75.90	B+	6.66	52.96	17.00	3.12	3.03
33	0471	ALIHA SHAFIQ AWAN	73.00	В	3.00	57.00	c-	3.32	80.00	Α-	3.66	60.90	С	4.00	72.00	В	3.00	59.80	C-	3.32	55.50	D+	3.99	75.15	B+	9,99	71.70	В	6.00	40.28	17,00	2.37	2.41
34	0472	SEHRISH	77.00	B+	3.33	66.25	C+	4.66	82.00	Α-	3.66	66.20	C+	4.66	74.00	В	3,00	69.70	В-	5.32	73.30	В	9.00	80.50	Α-	10.98	76.75	В+	6.66	51.27	17.00	3.02	2.81
35	0473	RIZWANA TAHIR	68.00	В-	2.66	61.95	С	4.00	77.00	B+	3.33	74.70	В	6.00	73.00	В	3.00	64.40	C+	4.66	61.55	С	6.00	78.20	B+	9.99	78.05	B+	6.66	46.30	17.00	2.72	2.55
36	0474	YOUSAF KHAN	68.00	B-	2.66	56.05	D+	2.66	76.00	B+	3.33	56,40	D+	2.66	80.00	A-	3.66	50.00	D	2,00	62.55	С	6.00	68.80	В-	7,98	69.40	В-	5.32	36.27	17.00	2.13	2.08
37	0475	ZOYA JAMSHAID	80.00	A-	3.66	61.70	С	4,00	71.00	В	3.00	65.55	C+	4.66	73.00	В	3.00	54.00	D+	2.66	52.45	D	3.00	70.65	В	9.00	71.55	В	6.00	38,98	17.00	2.29	2.34
38	0476	WAIZA BATOOL	80.00	Α-	3.66	67.70	В-	5.32	73.00	В	3.00	73.10	В	6.00	77,00	B+	3.33	67.20	В-	5.32	63.77	C	6.00	75,00	B+	9.99	79.80	B+	6.66	49.28	17.00	2.90	2.62
39	0477	AYZA ZUBAIR MALIK	66.00	C+	2.33	71.30	В	6.00	77.00	B+	3.33	81.75	A-	7.32	73.00	В	3.00	68.70	В-	5.32	60.70	С	6.00	90,20	A	12.00	79.75	B+	6.66	51.96	17.00	3,06	2.95
40	0479	SEHAR MUNAWAR	68.00	В-	2.66	46.60	F	0.00	76.00	B+	3.33	58.60	C-	3.32	72.00	В	3.00	43.80	F	0.00	47.70	F	0.00	71.65	В	9.00	51.60	D	2.00	23.31	10.00	1.37	1.84
41	0480	FATIMA ZAFAR	77.00	B+	3.33	69.90	B-	5.32	80.00	Α-	3.66	79.05	B+	6.66	81:00	Α-	3.66	67,60	B-	5.32	69.00	В-	7.98	80.45	A-	10.98	71.05	В	6.00	52.91	17.00	3,11	2.98
42	0481	MOMENA BUTT	76.00	B+	3.33	56.35	D+	2,66	67.00	В-	2,66	61.70	С	4.00	71.00	В	3.00	43.80	F	0.00	43.75	F	0.00	77.90	B+	9.99	66.70	C+	4.66	30.30	12.00	1.78	1.87

tw

EXAMINATIONS DEPARTMENT IS DATE

Result Notification: FALL 2019 DPT (18F) Semester Examinations

		Student Info	A	natomy-l (LAB)	n	Pl	ysiology-	ш	Ph	(LAB)	HI	Ме	dical Phy	sies	Me	dical Phy (LAB)	sles	Bi	ochemisti	ry-1		mechanic rgonomic			sh-III (Te g & Pres Skills)	entation	A	natomy-	ini		Re	esult	
			Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	3.00	Cr.	Hrs	3.00	Cr.	Hrs	2.00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP;
43	0483	MARIA JAHANGIR	80.00	Α-	3.66	74.40	В	6.00	83.00	Α-	3.66	82.30	Á-	7.32	81.00	A-	3.66	73.30	В	6.00	73.90	В	9.00	83.95	Α-	10.98	79.50	В+	6.66	56.94	17.00	3,35	3.31
44	0484	FAIZA FATIMA	76.00	B+	3.33	63.35	С	4.00	80.00	Α-	3.66	79.25	B+	6.66	75.00	B+	3.33	60.10	С	4.00	59.38	c.	4.98	70.20	В	9.00	73.50	В	6.00	44.96	17.00	2.64	2.29
45	0485	FARAH ZAFAR	76.00	B+	3.33	59.80	C-	3.32	85.00	٨	4.00	81.50	Α-	7.32	72.00	В	3.00	69.30	B-	5.32	50.00	D	3.00	75.15	B+	9,99	64.10	C+	4.66	43.94	17.00	2.58	2.50
46	0486	MEJIMOOD ALI	80.00	Α-	3.66	73.30	В	6.00	86.00	A	4.00	82.05	Α-	7.32	82.00	Α-	3.66	62.30	С	4.00	64.75	C+	6.99	87.05	A	12.00	78.55	B+	6.66	54.29	17.00	3.19	3.07
47	0487	WARDA	72.00	В	3.00	56.75	D+	2.66	80.00	Λ-	3.66	73.35	В	6.00	74.00	В	3.00	68.60	В-	5.32	58.55	c-	4.98	67,15	В-	7.98	68.40	В-	5.32	41.92	17.00	2.47	2.51
48	0488	DUA A FAROOQ SHAH	75.00	B+	3.33	55.45	D+	2.66	81.00	Α-	3.66	63.75	С	4.00	81.00	Á-	3.66	51.50	D	2.00	50.00	D	3.00	68,00	В-	7.98	63.50	С	4.00	34.29	17.00	2.02	1.93
49	0489	EMAN	81.00	Α-	3.66	73.00	В	6.00	86.00	A	4.00	83.75	Α-	7.32	78.00	B+	3.33	87.90	Α	8.00	79.65	B+	9.99	86,50	A	12.00	76.70	B+	6.66	60.96	17.00	3.59	3.18
50	0424	NAYESHA JAMIL	N	ot Enroll	ed	68.55	В-	5.32	N	ot Enrolle	ed	N	ot Enrolle	ed	N	ot Enrolle	:d	N	ot Enrolle	ed	69.75	В-	7.98	N	lot Enroll	ed	74.20	В	6.00	19.30	7.00	2.76	3.01
51	0433	AMINA SALAMAT	N	ot Enroll	ed	N	ot Enrolle	ed	N	lot Enrolle	ed	N	lot Enrolle	ed	N	ot Enrolle	ed	42.70	p	0.00	N	lot Enrolle	ed.	N	ot Enroll	ed	N	ot Enrolle	ed	0.00	0.00	0.00	2.58
52	0589	MUHAMMAD BATISH KHAN	82.00	۸-	3.66	66.05	C+	4.66	80.00	Α-	3.66	85.00	A	8.00	82.00	Λ-	3.66	73.00	В	6.00	76.80	B+	9.99	84.75	۸-	10.98	79.70	B+	6.66	57.27	17.00	3.37	3.37
53	0535	ALIA NOWSHERWAN	77.00	B+	3.33	55.10	D+	2.66	71.00	В	3.00	62.75	С	4.00	72.00	В	3.00	50.00	D	2.00	51.70	D	3.00	76.50	B+	9.99	74.45	В	6.00	36.98	17.00	2.18	2.35

In,



myll

Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification: FALL 2019 DPT (18S) Semester Examinations

		Student Infa	,	(LAB)			MECHAN GONOMI (LAB)	ICS-II	۸	natomy-	IV.	Exer	cise Phys	iology	Ever	(LAB)			cular Bio Genetics			omechani rgonomic		Hea	lth & We	liness	Rie	ochemistr	y-11	вгос	HFMIS (1.4B)	RY-II		Re	esuli	
			-Cr-	Hrs	1,00	Cr	. Hrs	3.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr	. Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	2.08	Cr.	Hrs.	1.00				
4#	Evam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (190)	Grade	Point	Total (100)	Grade	Point	Tetal (100)	Grade	Point	Toral (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP/
1	0344	HAFSA TANVEER	61.00	С	2.00	71.00	В	3.00	52.90	D	2.00	58:75	C-	3.32	75.00	B+	3,33	70,50	В	6.00	73.40	В	6.00	73.15	В	6.00	63.80	с	4.00	60.00	c	2.00	37,65	16.00	2.35	2.44
2		MIRZA MUHAMMAD DAANYAL BAIG	1	Not Enroll	led	1	Not Enrol	led	N	ot Enrolls	ed	1	lot Enroll	ed	Þ	lot Enroll	ed	60.50	С	4.00	,	Not Enroll	ed	74.30	В	6.00	62.00	C	4.00	N	lot Enroll	ed	14.00	6.00	2.33	2.05
3	0365	HAREEM IRAJ	,	Vot Enroll	led	,	Not Enrol	led	44.90	p-	0.00	57.25	C-	3.32	1	lot Enroll	ed	N	ot Enroll	ed	70.55	В	6.00	,	Not Enroll	ed	56.10	D+	2.66	N	lot Enroll	cd	11.98	6.00	1.50	2.38
4	0372	SAIRA ABID	1	Not Enroll	led	1	Not Enrol	led	53.80	D	2.00	67,00	В-	5,32	1	lot Enroll	ed	N	ot Enroll	d	1	Not Enroll	ed	1	Not Enroll	ed	62,70	c	4.00	N	lot Enroll	cd	11.32	6.00	1.89	2,06
5	0328	FAIZA HUSSAIN	54.00	D+	1.33	69.00	B-	2.66	50.70	D	2.00	47.00	F.	0.00	72.00	В	3.00	51.10	D	2.00	59.00	C+	3.32	72.40	В	6.00	54.40	D+	2.66	60.00	c	2,00	24.97	14.00	1.56	1.97
6	0493	MUHAMMAD FAISAL AIEN	86.00	٨	4.00	85.00	A	4.00	70.80	В	6.00	79.50	B+	6.66	83.00	۸-	3.66	81.30	Α-	7.32	87.50	A	8.00	80.80	Α-	7.32	80.20	Λ-	7.32	81.00	۸-	3.66	57.94	16.00	3.62	3.32
7	0399	SHIREEN GUL	87.00	A	4.00	90.00	A	4.00	N5.50	A	8,00	92.25	А	8.00	90.00	A	4.00	92.40	A	8.00	94.25	A	8.00	91.30	A	N.00	92.60	А	8.00	91.00	Α	4.00	64.00	16.00	4.00	4.00
8	0400	MARYAM MAHMOOD RANA	90.00	A	4,00	86.00	Α	4.00	84.30	A-	7.32	84.00	A-	7.32	85.00	A	4.00	90.25	٨	8.00	93.20	٨	8.00	89.50	A	8.00	91.20	Α.	8.00	90.00	٨	4.00	62.64	16:00	3.92	3.83
9	0401	NAYAB SHAUKAT	75.00	B+	3.33	75.00	B+	3.33	77.30	B+	6.66	85.00	A	8.00	88.00	٨	4.00	84.60	Α-	7.32	87.60	A	8.00	85.05	A	8.00	89.00	٨	8.00	87.00	٨	4.00	60.64	16.00	3.79	3.62
10	0402	SUMBAL RASHEED	90.00	A	4.00	85.00	А	4.00	78.30	B+	6.66	83.00	Ā-	7.32	86.00	A	4,00	81,90	Α-	7.32	89.60	A	8.00	85.00	A	8.00	83.60	Α-	7.32	86.00	A	4.00	60.62	16.00	3.79	3.89
ti	0403	USAMA ATHAR	52.00	D	1,00	80.00	Α-	3.66	63.60	С	4,00	56,00	D+	2,66	68.00	В-	2.66	61.90	C	4.00	71.10	В	6.00	67.20	В-	5.32	60.70	С	4.00	65.00	C+	2,33	35.63	16.00	2.23	2.62
12	0404	FARAZ AHMAD	80.00	Α-	3.66	77.00	B+	3.33	69.10	В-	5.32	56.00	D+	2.66	68.00	В-	2.66	74.05	В	6.00	72.50	В	6.00	73.60	В	6.00	70.40	В	6.00	70.00	В	3,00	44.63	16,00	2.79	2.99
13	0405	FAIZA BATOOL	71.00	В	3.00	85.00	А	4.00	73.90	В	6.00	79.50	B+	6.66	83.00	Λ-	3.66	84.00	Α-	7.32	86.70	Α	8.00	85.05	A	8.00	83.30	Α-	7.32	85,00	٨	4,00	57.96	16.00	3.62	3.67
14	0406	KHADIJA	60.00	С	2.00	74.00	В	3.00	54.70	D+	2.66	60.50	С	4.00	75.00	B+	3.33	69.70	В-	5.32	65.90	C+	4.66	72.65	В	6.00	63.70	c	4.00	66.00	C+	2,33	37.30	16.00	2.33	2.37

Errors & Omissions are Excepted System Generated Result

Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification : FALL 2019 DPT (18S) Semester Examinations

		Student Info	,	(LAB)	IV		MECHAN GONOMI (LAB)	CS-II	A	inatomy-	iv:	Exer	cise Phys	siology	Ever	tise Phys (LAB)	iology		cular Bio Genetics			omechanic rgonomic		Hea	lth & We	flness	Bi	ehemistr	у-П	втос	(LAB)	'RY-II		Re	csuli	
			Cr	Hrs	1.00	Cr	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr	Hrs	2.00	Cr	Hrs	2.00	Cr	Hrs	2.00	Cr	Hrs	1.00				
5#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned		CGPA
15	0407	SHAZMA NASIR	70.00	В	3.00	84.50	۸-	3.66	70.40	В	6.00	75.25	B+	6.66	82.00	Α-	3.66	81,40	A-	7.32	80.00	Α-	7.32	78.35	В+	6.66	72.50	В	6.00	70.00	В	3.00	53.28	16.00	3.33	3.24
16	0408	NAILA INAM	68.00	B-	2.66	75.00	В+	3.33	68.80	B-	5.32	62,25	c	4.00	75.00	B+	3.33	67.10	В-	5.32	75.20	В+	6.66	77,15	B+	6.66	71.10	В	6.00	70.00	В	3.00	46.28	16.00	2.89	2.87
17	0410	ABDUL REHMAN	76.00	B+	3,33	78.00	B+	3.33	69.30	В-	5.32	84.75	Α-	7.32	83.00	Α-	3.66	80.70	Α-	7.32	82.50	Α-	7.32	78.85	B+	6.66	82.60	A-	7.32	71.00	В	3.00	54.58	16,00	3.41	3.22
18	0411	KHALIDA ISHAQUE	77.00	R+	3.33	75.00	B+	3,33	74.40	В	6.00	63.50	c	4.00	68.00	В-	2.66	82.20	Α-	7.32	75.40	B+	6.66	78.90	B+	6.66	78.80	B+	6.66	65.00	c-	2.33	48,95	16.00	3.06	3.15
19	0412	AMMARA GHAYAS	70.00	В	3.00	86.00	A	4.00	70.80	В	6.00	73.75	В	6.00	81.00	Α-	3.66	78.70	B+	6.66	80.10	A-	7,32	82.85	Α-	7.32	81.80	A-	7.32	85,00	A	4.00	55.28	16.00	3.46	3.55
20	0413	IFFAT IQBAL	94.00	A	4.00	85.00	A	4.00	84.50	Λ-	7.32	92.00	٨	8.00	90.00	A	4.00	96.60	A	8.00	95.00	۸	8.00	91.80	A	8.00	91.50	Α	8.00	91.00	۸	4.00	63.32	16.00	3.96	3.95
21	0414	SADAF MASOOD	61.00	c	2.00	67.00	В-	2.66	60.40	С	4.00	69.25	В-	5.32	80.00	Α-	3.66	73.65	В	6.00	80.40	Α-	7.32	77.50	В+	6.66	70.00	В	6.00	75.00	B+	3.33	46.95	16.00	2.93	2.90
22	0415	AMNA AHSAN	75.00	B+	3.33	69.00	В-	2.66	71.40	В	6.00	80.00	Α-	7.32	87.00	A	4.00	73.15	В	6.00	83.20	۸-	7.32	80.00	۸-	7,32	72.80	В	6.00	80,00	Α-	3,66	53.61	16.00	3.35	3.29
23	0416	FAZILA SABIR	71.00	В	3.00	70.00	В	3.00	60.80	С	4.00	55.50	D+	2.66	71.00	В	3.00	61.55	С	4.00	71,80	В	6.00	63.20	С	4.00	65.80	Ĉ+	4.66	60.00	C	2.00	36.32	16.00	2.27	2.50
24	0417	SADAF KAYANI	61,00	С	2.00	68.00	В-	2.66	51.90	D	2.00	58.00	C-	3.32	68.00	В-	2.66	74.80	В	6,00	67.40	В-	5.32	67.15	В-	5.32	67.00	В-	5.32	76.00	B+	3.33	37.93	16.00	2.37	2,58
25	0418	TEHREEM SHAHZAD	77.00	B+	3.33	80.00	Λ-	3.66	69.10	В-	5.32	68.00	В-	5.32	80.00	Λ-	3,66	76.00	B+	6.66	73.50	В	6.00	74.30	В	6.00	79.30	B+	6.66	77,00	B+	3.33	49.94	16,00	3.12	2.72
26	0419	REMSHA ZEB	76.00	B+	3.33	82.00	Α-	3.66	72.30	В	6.00	66.50	C+	4.66	80.00	Α-	3.66	74.70	В	6.00	89,10	A	8.00	80.20	Α-	7.32	77.00	В+	6.66	76.00	B+	3.33	52.62	16.00	3.29	3.18
27	0420	TUBA SAFDAR	81.00	Λ-	3.66	70.00	В	3.00	70.50	В	6.00	80.25	Α-	7.32	87.00	Α	4.00	82.45	Λ-	7,32	79.50	B+	6.66	82.85	Λ-	7.32	79.30	B+	6.66	77.00	B+	3.33	55.27	16,00	3.45	3.27
28	0421	ASMA RASOOL	71.00	В	3.00	76.00	B+	3.33	58.00	C-	3.32	66.75	C+	4.66	80.00	Α-	3.66	75.55	B+	6,66	83.20	A-	7.32	76.90	B+	6.66	65.10	C+	4.66	72.00	В	3.00	46.27	16,00	2.89	3.03

Errors & Omissions are Excepted System Generated Result

Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification : FALL 2019 DPT (18S) Semester Examinations

		Student Info	,	(LAB)	IV		MECHAN GONOMI (LAB)	ICS-II	A	knatonry-	v	Exer	cise Phys	iology	Exer	(LAB)			cular Bio Genetics			omechani rgonomic		Hea	lih & We	llness	Ric	ochemistr	y-II	ное	HEMIS (1.4B)	FRY-II		Re	sult	
			Ct	Hrs	1.00	Cr	. Hrs	1.00	Cr.	Hrs	2.00	Cr	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrx	2.00	Cr	. Hrs	2.00	Cr	Hrs	2.00	Cr.	Hrs	2.00	Cr	Hrs	1.00				
5#	Evan Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (190)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Toral (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP:
29	0422	MARRYUM MUSTAFA	83.00	۸-	3.66	85.00	٨	4.00	63.50	с	4.00	73.25	В	6.00	80.00	۸-	3.66	80,70	۸-	7,32	87.20	A	8.00	78.50	B+	6.66	70.50	R.	6.00	75.00	B÷	3.33	52,63	16.00	3.29	3.38
30	0423	JAVARIA GULZAR	52.00	D	1.00	77,00	B+	3.33	60.20	с	4.00	64.00	C+	4.66	80.00	Α-	3.66	78,10	B+	6.66	75.50	B+	6.66	71.50	В	6.00	74.00	В	6.00	70.00	В	3.00	44.97	16.00	2.81	3.03
31	0425	HUMNA SHOUKET	79.00	B+	3.33	70.00	В	3.00	78.80	B+	6.66	71.75	В	6.00	82.00	Α-	3.66	78.50	B+	6.66	80.20	Α-	7.32	81.10	A-	7.32	75.20	B+	6.66	70.00	В	3,00	53,61	16.00	3.35	3.19
32	0426	BISMA PERVAIZ	61.00	c	2.00	80.00	Α-	3.66	54.20	D+	2.66	61.50	c	4.00	80.00	Λ-	3.66	63.50	с	4.00	73.50	В	6.00	62.65	с	4.00	63.80	С	4.00	70.00	В	3.00	36.9ĸ	16.00	2.31	2.67
33	0429	ABDUL REHMAN KHOKHAR	75.00	B+	3.33	72.00	В	3.00	74.65	В	6,00	66.50	C+	4.66	77.00	B+	3.33	79,70	B+	6.66	73.70	В	6.00	77.25	B+	6.66	72.70	В	6.00	80.00	Α-	3.66	49.30	16.00	3.08	3.16
34	0430	HIRA SIAB ABBASI	87.00	A	4.00	85.00	A	4.00	62.30	c	4.00	75.00	B+	6,66	82.00	Α-	3.66	77.50	B+	6.66	86.30	٨	8.00	78.00	B+	6.66	81.30	Α-	7.32	80.00	Α+	3.66	54.62	16.00	3.41	3.33
35	0432	SUMAIRA KALSOOM	78.00	B+	3.33	80.00	Α-	3,66	60.65	с	4,00	57.50	C-	3,32	76.00	B+	3.33	69.45	В-	5.32	77.90	B+	6.66	70.60	В	6.00	67.20	В-	5.32	70.00	В	3.00	43.94	16.00	2,75	2.79
36	0433	AMINA SALAMAT	73.00	В	3.00	81,00	Α-	3.66	58.70	C-	3.32	51.75	D	2.00	68.00	В-	2.66	66.40	C+	4.66	79.50	B+	6.66	75.40	B+	6.66	55.10	D+	2.66	65.00	C+	2.33	37.61	16.00	2.35	2.58
37	0434	AMBREEN EJAZ	79.00	B+	3.33	70.00	В	3.00	61.00	С	4.00	67.00	В-	5.32	78.00	В+	3,33	74.35	В	6.00	70.50	В	6.00	77.85	B+	6.66	73.60	В	6.00	60.00	с	2.00	45.64	16,00	2.85	2.73
38	0435	MIZHGAN NAZIR KHAN	57.00	c-	1.66	73.00	В	3.00	50.00	D	2.00	60.25	c	4.00	72.00	В	3.00	57.55	C-	3.32	62.30	С	4.00	67.20	В-	5.32	55,40	D+	2.66	61.00	с	2.00	30.96	16,00	1.94	2.09
39	0436	SAMAVIYA HADI HASHMI	59.00	C-	1.66	85,00	Α	4.00	58,40	C-	3.32	72.75	В	6.00	80.00	Α-	3.66	66.85	C+	4.66	79.10	B+	6,66	74.85	В	6.00	66.40	C+	4,66	70,00	В	3.00	43.62	16.00	2.73	2.91
40	0437	KOMAL KHALID	71.00	В	3.00	75.00	B+	3.33	62.60	c	4.00	65.75	C+	4.66	78.00	B+	3.33	76.30	B+	6.66	83.90	Α-	7.32	83.50	Α-	7.32	75.90	В+	6.66	65.00	C+	2.33	48.61	15.00	3.04	3.24
41	0438	FATIMA AMAAN	52.00	D	1.00	75.00	B+	3.33	43.90	F	0.00	60.75	С	4.00	76.00	В+	3.33	63.40	c	4.00	69.60	В-	5.32	71.80	В	6.00	55.10	D+	2.66	63.00	С	2.00	31.64	14.00	1.98	1.99
42	0590	HASSAN SAEED	89.00	A	4.00	86.00	A	4.00	70.95	В	6.00	72.75	В	6.00	83.00	A-	3.66	78.30	B+	6.66	85.10	A	8.00	75.05	В+	6.66	81.40	Α-	7.32	82.00	A-	3.66	55.96	16.00	3.50	3.50

Errors & Omissions are Excepted System Generated Result

Shifa Tameer-e-Millat University, Islamabad

Department of Physical Therapy

Result Notification: FALL 2019 DPT (18S) Semester Examinations

		Student Info	,	(LAB)	IV		MECHAN GONOMI (LAB)		,	Anatomy-	IV.	Exer	cise Phys	iology	Ever	(LAB)		Mole	cular Bio Genetics			mechanic		Hea	lth & We	liness	Ric	ochemistr	y-11	вюс	CHEMIS (LAB)			Re	esult	
			Cr	. Hrs	1,00	Cr	. Hrs	1.00	Cr	. Hrs	2.00	Cr	Hrs	2.00	Cr.	Hrs	1.00	Cr	. Hrs	2.00	Cr.	Hrs	2.00	Cr	Hrs	2.00	Cr	Hrs	2.00	Cr	, Hrs	1.00				
S#	Evam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Toral (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Cirade	Polet	Total (100)	Grade	Point	Toral (100)	Grade	Point	Total Points	Total Credits Exerned	GPA	CGP
43	0591	MUNIBA TANVEER	61.00	С	2.00	73.00	В	3.00	68.20	В-	5.32	64.25	C+	4.66	70.00	В	3.00	78.60	В+	6.66	80.50	Α-	7.32	71.85	В	6.00	75.60	B+	6.66	81,00	۸-	3.66	48.28	16.00	3.02	3.09
44	0592	SABA BIBI	1	ot Enrolle	ed .	1	Not Enroll	ed	1	Not Enroll	ed	1	lot Enroll	ed	1	ot Enrol	ed	72.40	В	6.00	N	lot Enrolle	ed	75.60	B+	6.66	N	ot Enrolle	ed	65.00	C+	2.33	14.99	5.00	3.00	2.59
45	0536	SANA AFZAAL BHATTI	54.00	D+	1.33	76.00	B+	3.33	46.00	F	0.00	57.00	C-	3.32	76.00	B+	3.33	67.10	B-	5.32	67.90	В-	5.32	70.00	В	6.00	N	ot Enrolle	ed	,	Not Enroll	led	27.95	11,00	2.15	2.52

In



Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification : FALL 2019 DPT (17F) Semester Examinations

		Student Info	1	Riostaticti	ics		armacoloj ierapenti			vioral Sc tology &			oeutic Exe Techniqu			sical Age ctrothera			sical Age etrothera (LAB)	apy-I		eutle Exe Fechniqu (LAB)			athology			Practice (LAB)	-1		Re	esult	
			Cr.	Hrs	3.00	Cr	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	2,00	Cr.	Hrs	1.00	Cr.	Hrs	1.00	Cr,	Hrs	2.00	Cr.	. Hrs	3.00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP.
1	0157	AIMAN ZEHRA	Ņ	ot Enrolle	ed	66.75	C+	4.66	N	lot Enroll	ed	١	Not Enroll	ed	١	ot Enroll	ed	N	lot Enroll	ed	N	lot Enroll	ed	N	ot Enroll	ed	١	Not Enroll	ed	4,66	2.00	2.33	0.11
2	0343	AMNA KIIAN	60.00	С	6.00	62.75	С	4.00	66.80	C+	4.66	67.20	В-	5,32	58.75	C-	3.32	73.00	В	3.00	67.00	В-	2.66	62,40	С	4.00	77.50	B+	9.99	42.95	18.00	2.39	2.39
3	0346	SHAFFAQ AÜJ	64.00	C+	6.99	63.50	С	4.00	78.60	B+	6.66	63.50	С	4.00	58.75	C-	3.32	76.00	B+	3.33	37.00	F	0.00	61.10	C	4.00	70.00	В	9.00	41,30	17.00	2.29	2.49
4	0347	MUHAMMAD ADEEL	74.75	В	9.00	76.75	B+	6.66	78.45	B+	6.66	74.70	В	6.00	76.75	B+	6.66	81.00	Α-	3.66	75.00	B+	3.33	70.30	В	6.00	78.00	B+	9.99	57.96	18.00	3.22	3.24
5	0348	MUKHBITA LIAQAT	73.50	В	9.00	85.75	۸	8.00	80.40	Λ-	7.32	81.00	Α-	7.32	78.00	B+	6.66	87.00	۸	4.00	82.00	Α-	3.66	86.50	٨	8.00	86.00	Λ	12.00	65.96	18.00	3,66	3.78
6	0349	RANIA MANZOOR	54.75	D+	3.99	69.75	В-	5.32	77.05	B+	6.66	71.60	В	6.00	66.25	C+	4.66	81.00	Α-	3.66	75,00	B+	3.33	68.90	B-	5.32	87.00	A	12.00	50.94	18.00	2.83	3.18
7	0350	AFIFA ZAHID	81.25	۸۰	10.98	79.25	B+	6.66	78.55	B+	6.66	79.20	В+	6,65	80.50	Α-	7.32	87.00	٨	4.00	80.00	۸-	3.66	83.70	۸-	7.32	81,50	۸-	10.98	64.24	18.00	3.57	3.47
8	0351	ZUNAIRA MALIK	61.50	С	6.00	72.25	В	6.00	76.90	B+	6.66	73.60	В	6.00	75.25	B+	6,66	80.00	A-	3.66	70.00	В	3.00	73.60	В	6.00	81.00	Α-	10.98	54.96	18.00	3.05	3.03
9	0352	SYEDA GUL E NAYAB	54.50	D+	3.99	72.50	В	6.00	74.90	В	6.00	68.10	B-	5.32	58.25	C-	3.32	80.00	A-	3.66	55.00	D+	1.33	70.10	В	6.00	81.50	Α-	10.98	46,60	18.00	2.59	3.19
10	0353	SADA E ZEHRA	58.50	C-	4.98	76.00	B+	6.66	82.30	A-	7.32	73.80	В	6.00	67.50	В-	5.32	72.00	В	3.00	76.00	B+	3.33	69.80	В-	5.32	85.00	٨	12.00	53.93	18.00	3.00	3.11
11	0354	MAHAM BIN TE KHATEEB	55.50	D+	3.99	67.50	В-	5.32	81.50	Α-	7.32	68.60	В-	5.32	59.00	c.	3.32	75.00	B+	3.33	80.00	A-	3.66	61.40	c	4,00	86.50	A	12.00	48.26	18.00	2.68	2.71
12	0357	ATISHAM AKBER	60.50	С	6.00	75.75	B+	6.66	79.75	B+	6.66	73.90	В	6.00	82.25	۸-	7.32	85.00	۸	4.00	80.00	۸-	3.66	73.10	В	6.00	80.00	Λ-	10.98	57,28	18.00	3.18	3.39
13	0358	KASHAF GUL	76.50	B+	9.99	85.00	A	8.00	80.70	A-	7.32	83.30	Α-	7.32	83.25	Α-	7.32	85.00	A	4.00	75.00	B+	3,33	90.50	A	8.00	86.50	A	12.00	67,28	18.00	3,74	3.69
14	0360	USAMA JAVAID	72.50	В	9.00	83.75	Λ-	7.32	75.30	B+	6.66	79.90	B+	6.66	86.50	۸	8.00	88.00	٨	4.00	77.00	B+	3.33	83,60	Λ-	7.32	80.00	A-	10.98	63.27	18.00	3.52	3.55

Errors & Omissions are Excepted System Generated Result

EXAMINATIONS DEPARTMENT

Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification : FALL 2019 DPT (17F) Semester Examinations

		Student Info	B	iostaticti	cs		rmacolo; ierapenti			vioral Sci ology &			eutic Exe fechnique			sical Ager ctrothera			sical Ager etrothera (LAB)			eutic Exe fechnique (LAB)			athology crobiolog			rvised Cl Practice- (LAB)			Re	esult	
			Cr.	Hrs	3.00	Cr.	Hrs	2.00	Cr.	Hes	2.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	1.00	Cr.	Hrs	2,00	Cr.	Hrs	3.00				
S#	Exam- Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP.
15	0361	KAINAT AAMIR	67.00	В-	7.98	80.00	Α-	7.32	77.60	B+	6.66	77.10	B+	6.66	77.75	B+	6.66	80.00	Α-	3.66	60.00	c	2.00	71.90	В	6.00	83.50	Α-	10.98	57.92	18.00	3.22	2.68
16		NAJWA JAVAID ABBASI	59.00	C-	4.98	77,50	B+	6.66	79.60	B+	6.66	63.70	C	4.00	71.75	В	6.00	80.00	A-	3.66	44.00	F	0.00	79.60	B+	6.66	84.00	Α-	10.98	49.60	17.00	2.76	2.92
17	0367	MAHEEN MEHMOOD	62.25	с	6.00	81.00	Α-	7.32	75,00	В+	6.66	71.80	В	6.00	64.75	C+	4.66	78.00	B+	3.33	77.00	В+	3.33	69.90	В-	5.32	80.00	۸-	10.98	53.60	18.00	2.98	3.03
18	0368	MEMOONA JAVED	58.50	c-	4.98	71.25	В	6.00	74.15	В	6.00	66.40	C+	4.66	64.75	C+	4.66	76.00	B+	3.33	28.00	F	0.00	67.40	B-	5.32	81.50	Α-	10.98	45.93	17.00	2.55	2.76
19	0369	SIDRAH HAIDER	72.50	В	9.00	78.75	B+	6.66	79.15	B+	6.66	78.00	B+	6.66	77.75	B+	6.66	76.00	B+	3.33	80.00	Λ-	3.66	82.10	Λ-	7.32	88.00	٨	12.00	61.95	18.00	3 44	3.27
20	0370	SALAAR GHAFOOR	47.00	F	0.00	67.00	В-	5.32	66.35	C+	4.66	56.90	D+	2.66	54.00	D+	2.66	70.00	В	3.00	37.00	F	0.00	56.20	D+	2.66	71.00	В	9.00	29,96	14.00	1,66	2.06
21	0373	FARHAN ATIQ UR REHMAN	53.50	D	3.00	74.50	В	6.00	78.50	B+	6.66	60.60	C	4.00	75.50	B+	6.66	80.00	Λ-	3.66	74.00	В	3.00	71.60	В	6.00	78.00	B+	9,99	48.97	18.00	2.72	2.79
22	0374	AIZA ASHRAF	64.50	C+	6.99	86.75	A	8.00	79.40	B+	6.66	75.80	B+	6,66	80.25	Α-	7.32	88.00	A	4.00	70.00	В	3.00	80.80	Α-	7.32	87.00	A	12.00	61.95	18.00	3.44	3.03
23	0375	MUZNA ZAHID	59.50	C-	4.98	78.25	B+	6.66	78.30	B+	6.66	79.80	B+	6.66	73.00	В	6.00	85.00	A	4.00	81.00	A-	3.66	73.30	В	6.00	84.00	Α-	10.98	55.60	18.00	3.09	3.13
24	0376	AREEJ IMRAN	72.00	В	9.00	87.50	Α	8.00	82.70	Λ-	7.32	84.00	Λ-	7.32	82.75	۸-	7,32	88.00	Α	4.00	81.00	Α-	3.66	84.50	۸-	7.32	85.00	٨	12.00	65.94	18.00	3.66	3.42
25	0377	MAHNOOR FATIMA	46.00	F	0.00	70.25	В	6.00	64.00	C+	4.66	57.00	C-	3.32	70.75	В	6,00	81.00	Α-	3.66	64.00	C+	2.33	75.40	B+	6.66	75.00	В+	9,99	42,62	15.00	2.37	2.47
26	0378	SABIHA FAYYAZ	77.50	B+	9.99	84.50	Λ-	7.32	78.70	B+	6.66	88.10	Λ	8.00	79.50	B+	6.66	87.00	٨	4.00	89.00	٨	4.00	89.20	٨	8.00	86.00	٨	12.00	66.63	18.00	3.70	3.77
27		SAWERA KHAN MARWAT	61.00	С	6.00	56.00	D+	2,66	66.25	C+	4.66	69.90	В-	5.32	61.25	с	4,00	67.00	В-	2.66	82.00	A-	3.66	61.90	C	4.00	79.00	В+	9.99	42.95	18.00	2.39	2.66
28	0381	UROOJ KHALIQ	55.25	D+	3.99	77.00	B+	6.66	80.90	Α-	7.32	75.30	B+	6.66	76.00	B+	6.66	82.00	Α-	3.66	88.00	Α	4.00	73.20	В	6.00	85.00	٨	12.00	56.95	18.00	3.16	3.06

Errors & Omissions are Excepted

System Generated Result

Result Notification: FALL 2019 DPT (17F) Semester Examinations

		Student Info	F	liostaticti	ics		armacolo _j serapenti			vioral Sc tology &			eutic Exc Fechniqu			deal Age trothera			sical Age ctrothers (LAB)			eutic Exc Techniqu (LAB)			athology crobiolo			Practice- (LAB)			Re	esult	
			Cr.	Hrs	3.00	Cr.	Hrs	2,00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Urs	1.00	Cr.	Hrs	1,00	Cr.	Hes	2.00	Cr.	Hrs	3,00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GP.A	CGPA
29	0382	FAREEHA SHAKEEL	67.50	В-	7.98	74.50	В	6.00	79.20	B+	6.66	72.60	В	6.00	73.50	В	6.00	80.00	Α-	3.66	81.00	Α-	3.66	72.10	В	6.00	86.00	A	12.00	57.96	18.00	3.22	2.87
30	0383	HIRA SAJJAD	53.00	D	3.00	67.00	В-	5.32	71.65	В	6.00	60.90	С	4.00	60.25	C	4.00	76.00	B+	3.33	61.00	С	2.00	69.90	В-	5.32	77.00	B+	9.99	42.96	18.00	2.39	2.39
31	0384	AZANISH BUTT	66.00	C+	6.99	83.00	Λ-	7.32	76.60	B+	6.66	72.40	В	6.00	74.50	В	6.00	85.00	٨	4.00	73.00	В	3.00	79.60	B+	6.66	85.00	Λ	12.00	58.63	18.00	3.26	3.44
32	0385	SHER USAMA	50.00	D	3.00	69.75	В-	5.32	68,50	В-	5.32	64.20	C+	4,66	65.75	C+	4.66	75.00	B+	3.33	78,00	B+	3.33	66.40	C+	4.66	72.25	В	9.00	43.28	18,00	2,40	2.58
33	0387	ABDUL HANAN NADEEM	65.25	C+	6.99	70.50	В	6.00	66.20	C+	4.66	61.50	С	4.00	58.25	c-	3.32	70.00	В	3.00	73.00	В	3.00	53.90	D	2.00	86.75	٨	12.00	44.97	18.00	2.50	2.48
34	0388	KOMAL IMAM NAQVI	57.00	C-	4.98	81.50	Α-	7.32	71.10	В	6.00	66.90	C+	4.66	70.75	В	6.00	80.00	A-	3.66	67.00	В-	2.66	72.60	В	6.00	87.00	A	12.00	53.28	18.00	2.96	2.98
35	0389	TAIIIRA RUBAB	50.00	D	3.00	72.75	В	6.00	69.00	В-	5.32	65.40	C+	4.66	59.75	C-	3.32	70,00	В	3.00	70.00	В	3.00	64,10	C+	4.66	80.00	۸-	10.98	43.94	18.00	2.44	2.45
36	0390	SUMMAIYA ISHTIAQ														R	esult '	Withh	ld														
37	0391	MARYAM BASHARAT	77.50	B+	9.99	83.50	A-	7.32	82.20	A-	7.32	73.90	В	6.00	84.25	Α-	7.32	80.00	A-	3,66	85.00	A	4.00	81.60	A-	7.32	82.00	A-	10.98	63.91	18.00	3.55	3.51
38	0392	AREEBA ASHRAF	60.00	С	6.00	70.50	В	6.00	71.80	В	6.00	75.50	B+	6.66	59.25	C-	3,32	80.00	Α-	3.66	80.00	Λ-	3.66	79.00	B+	6.66	88.50	Λ	12.00	53.96	18.00	3.00	2.88
39	0490	AIMEN HASSAN	N	ot Enrolle	ed	75.75	B+	6.66	77.90	B+	6.66	76.70	B+	6.66	72.25	В	6.00	85.00	A	4.00	45.00	F	0,00	78.90	B+	6,66	81.50	Α-	10.98	47.62	14.00	3,17	3.04
40	0491	SAMIA RASHEED	N	ot Enrolle	ed	87.00	٨	8.00	81.30	۸-	7.32	82.75	Α-	7,32	78.00	B+	6.66	87.00	Λ	4.00	88.00	٨	4.00	83.60	Λ-	7.32	88,00	٨	12.00	56,62	15.00	3.77	3.54
41	0492	MAHA WAHEED	N	ot Enrolle	od	64.50	C+	4.66	65.00	C+	4.66	64.70	C+	4.66	56.75	D+ :	2.66	66.00	C+	2.33	38.00	p.	0.00	66.80	C+	4.66	85.00	A	12.00	35.63	14.00	2.38	2.46
42	0494	SUMBAL HANIF	64.00	C+	6.99	76.25	B+	6.66	81.50	۸-	7.32	65.20	C+	4.66	70.00	В	6.00	76.00	B+	3.33	71.00	В	3.00	75.30	В+	6.66	81.50	Α-	10.98	55.60	18.00	3.09	2.79

Errors & Omissions are Excepted System Generated Result EXAMINATIONS DEPARTMENT 13-3-2020

Shifa Tameer-e-Millat University, Islamabad

Department of Physical Therapy

Result Notification: FALL 2019 DPT (17F) Semester Examinations

		Student Info	н	liostaticti	ics		rmacolo; terapenti			doral Sci ology & l			euric Exc Techniqu	ercises & es		sical Age ctrothera			sical Ager ctrothera (LAB)	py-1		eutic Exe fechnique (LAB)	reises &	P	athology crobiolog			rvised Cl Practice- (LAB)			Res	sult	
			Cr.	Hrs	3.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	3.00				
S#	Exam Rofl#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGPA
43	0592	SABA BIBI	N	ot Enroll	ed	61.50	С	4.00	N	ot Enrolle	d	61.30	С	4.00	58.00	C-	3.32	80.00	Α-	3.66	77.00	B+	3.33	59.30	C-	3.32	78.50	B+	9.99	31.62	13.00	2.43	2.59





Result Notification: FALL 2019 DPT (17S) Semester Examinations

		Student Info		sical Age trothera			rsical Ag etrothera (LAB)	apy-fl		Pathology Icrobiolo			Pathology icrobiolo (LAB)	gy-II	Ph	armacolo	gy-II	Muscu	loskelfal Therap	Physical y	Muscu	Therap (LAB)	y		ng Metho munity M			ervised C Practice- (LAB)	11		R	esult	
			Cr.	Hrs	2.00	Cr	. Hrs	1.00	Cr.	Hrs	2.00	Cr	. Hrs	1.00	Cr	Hrs	2.00	Cr.	Hrs	2.00	Cr	Hrs	1.00	Cr.	. Hrs	3.00	Cr.	Hrs	3.00				
S#	Exam Roll#		Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Tetal (100)	Grade	Point	Tetal (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP
1	0157	AIMAN ZEHRA	N	ot Enroll	led	1	Not Enrol	led	١	Not Enroll	led	1	Not Enroll	led	60.75	С	4.00	58.00	C-	3.32	N	Not Enroll	cd	71.75	В	9.00	N	lot Enroll	ed	16.32	7.00	2.33	0.11
2	0180	KAINAT TAHIR	N	ot Enroll	ed	١	Not Enroll	led	N	Not Enroll	ed	1	Not Enroll	led	1	lot Enroll	ed	N	lot Enroll	ed	N	lot Enroll	ed	81.50	Α-	10,98	N	lot Enroll	ed	10,98	3.00	3.66	2.90
3	0321	FARWA AKHTAR	75.90	B+	6.66	75.00	В+	3.33	77.70	B+	6.66	78.00	B+	3.33	79.25	B+	6,66	62.10	C	4.00	80.00	۸-	3.66	84.50	A-	10.98	70.00	В	9.00	54,28	17.00	3.19	3.20
4	0322	SYEDA RUQAYYA FATIMA ALI		w		57.00	C-	1.66	50.00	D	2.00	50.00	D	1,00	48.75	þ	0.00		w		57.00	C-	1.66	54.75	D+	3.99	64.00	C+	6.99	17.30	11.00	1.33	2.11
5	0323	RAMSHA SHAHZAD	76.90	B+	6.66	78.00	B+	3.33	81.20	Α-	7.32	82.00	Α-	3.66	79,00	B+	6.66	62.60	С	4.00	81.00	Α-	3.66	86.25	A	12.00	85.00	۸	12.00	59.29	17.00	3.49	3.46
6	(1324	ZUNAIRA IRSHAD	89.30	A	8.00	85.50	A	4.00	88.70	A	8.00	88.00	A	4.00	84.50	A-	7.32	73.80	В	6.00	92.00	A	4.00	86.75	A	12.00	85,00	A	12.00	65.32	17.00	3.84	3.89
7	0325	FATIMA HADI HASHMI	61.50	С	4.00	67.00	B-	2.66	69.40	В-	5.32	73.00	В	3.00	58.00	C-	3,32	57.70	C-	3.32	71.00	В	3.00	76.50	B+	9.99	71.00	В	9.00	43.61	17.00	2.57	2.41
8	0326	SOHA BADDAR	73.80	В	6.00	80.50	Α-	3.66	74.15	В	6.00	80.00	Α-	3.66	77.25	B+	6.66	72.70	В	6.00	91.00	A	4.00	81.00	Α-	10.98	76.00	B+	9.99	56.95	17.00	3.35	3.31
9	0327	SAYYEDA AEMEN FATIMA	55.30	D+	2.66	65.00	C+	2.33	66.80	C+	4.66	70.00	В	3.00	66.75	C+	4.66	54.40	D+	2.66	76.00	В+	3.33	79.75	В+	9.99	71.00	В	9.00	42.29	17.00	2.49	2.37
10	0329	MARIA NAWAZ	81.70	Α-	7.32	85.00	٨	4.00	82.80	Α-	7.32	80.00	A-	3.66	85,50	A	8.00	67.40	В-	5.32	95.00	٨	4.00	87.00	A	12.00	86.00	٨	12.00	63.62	17.00	3.74	3.45
11	0331	ANUM SHEIKH	81.30	A-	7.32	71,50	В	3.00	84.10	A-	7.32	82.00	Α-	3.66	75.25	B+	6.66	74.10	В	6.00	80.00	Α-	3.66	86.75	A	12.00	74.00	В	9.00	58.62	17.00	3.45	3.35
12	0332	NIMRA YOUNAS	87.70	٨	8.00	90.00	Α	4.00	85.65	٨	8.00	85.00	Λ	4.00	84.50	Λ-	7.32	75,90	B+	6.66	95.00	Λ	4.00	85.50	٨	12.00	80.00	A-	10.98	64.96	17.00	3.82	3.76
13	0333	USAMA BIN SHAKEEL	68.20	В-	5.32	70.00	В	3.00	72.30	В	6.00	70.00	В	3.00	72.25	В	6.00	60.80	С	4.00	83.00	A-	3.66	74.25	В	9.00	70.00	В	9.00	48.98	17.00	2.88	2.69
14	0334	HAFSAH EHSAN	70.85	В	6.00	70.50	В	3.00	76.70	B+	6.66	75.00	B+	3.33	75.75	B+	6.66	63.20	С	4.00	91.00	A	4.00	79.25	B-	9.99	77.00	B+	9.99	53.63	17.00	3.15	2.95

Errors & Omissions are Excepted System Generated Result EXAMINATIONS DEPARTMENT 13-3-2020 DATE

Shifa Tameer-e-Millat University, Islamabad

Department of Physical Therapy Result Notification : FALL 2019 DPT (17S) Semester Examinations

		Student Info		sical Age trothera			sical Age etrothera (LAB)	py-II		athology crobiolog			Pathology icrobiologic (LAB)		Ph	armacolo	gy-11		oskeltal Therapy		Museu	Therapy (LAB)			g Methor nunity M			rvised C Practice- (LAB)			Re	suit	
			Cr.	Hrs	2,00	Cr.	. Hrs	1.00	Cr.	Hrs	2.00	-Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs.	2.00	Cr.	Hrs	1.00	Cr.	Hrs	3.00	Cr.	Hrs	3,00				
S#	Exam Roll		Tetal (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Tetal (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Peint	Total Points	Total Credits Earned	GPA	CGP.
15	0336	ASEES UL HASSAN	81.20	Α-	7.32	83.00	Α-	3.66	81.00	Α-	7.32	88.00	A	4.00	84.50	Α-	7.32	70.90	В	6.00	96.00	A	4.00	88.25	A	12.00	86.00	A	12.00	63.62	17.00	3.74	3.57
16	0337	YOUSAF KHAN	70.00	В	6.00	71.50	В	3.00	74.60	В	6.00	75.00	B+	3.33	75.00	B+	6.66	60.60	С	4.00	81.00	A-	3.66	82.50	A-	10.98	85.00	A	12.00	55.63	17.00	3.27	2.66
17	0338	NAYAB NASEER	68.65	В-	5.32	70.00	В	3.00	75.30	B+	6.66	75.00	B+	3.33	70.75	В	6.00	64.40	C+	4.66	86.00	٨	4.00	73.75	В	9,00	71.00	В	9.00	50.97	17.00	3.00	2.81
18	0339	TEHREEM	87.15	A	8.00	86.50	A	4.00	84,60	A-	7.32	85.00	A	4.00	93.50	A	8.00	77.10	B+	6.66	91.00	A	4.00	85.00	A	12.00	68.00	В-	7.98	61.96	17.00	3.64	3.72
19	0340	KASHAF NADEEM	77.50	B+	6.66	90.00	٨	4.00	84.70	Α-	7.32	85.00	A	4.00	88.75	٨	8,00	73.80	В	6.00	95.00	A	4.00	86.25	٨	12.00	75.00	B+	9.99	61.97	17.00	3.65	3.49
20	0341	LIAQAT ALI	72.45	В	6.00	68.50	В-	2.66	67.60	B-	5.32	70.00	В	3.00	69.25	В-	5.32	65.00	C+	4.66	80.00	A-	3.66	71.75	В	9.00	75.00	B+	9.99	49.61	17.00	2.92	2.56
21	0342	SYED ALI RAZA	74.65	В	6.00	63.50	С	2.00	72.00	В	6.00	72.00	В	3.00	75.50	В+	6.66	62.50	С	4.00	85.00	A	4.00	78.75	B+	9.99	0.00	F	0.00	41.65	14.00	2.45	2.83
22	0593	SUMMIYA KHALIL	72.35	В	6.00	76.50	B+	3.33	70.10	В	6.00	75.00	B+	3,33	70.50	В	6.00	62.80	С	4.00	81.00	Α-	3.66	72.25	В	9.00	65.00	C+	6.99	48.31	17,00	2.84	2.84



Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification: FALL 2019 DPT (16F) Semester Examinations

		Student Info	1	Medicine	-1		Surgery-	·I	Ma	nual The	rapy	Ma	(LAB)	rapy	Radiole	gy & Dia Imaging	agnostics	Radiolo	ogy & Dia Imaging (LAB)		De Com	man Gre velopme imunity shabilita	nt & Rased		ervised C Practice-I (LAB)			Re	sult	
			Cr.	Hrs	3.00	Cr.	Hrs	3.00	Cr.	Hrs	2.00	Cr	. Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	-Cr.	Hrs	3.00				
S#	Evam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Peint	Total Points	Total Credits Earned	GPA	CGPA
T	0171	AZHAR AKRAM	N	ot Enroll	ed	1	ot Enroll	ed	1	Not Enroll	ed	1	Not Enroll	ed	50.00	D	2.00	N	lot Enrolle	ed	N	ot Enroll	ed	1	ot Enroll	ed	2.00	2.00	1.00	2.22
2	0178	IQRA ARBAB	N	ot Enroll	ed	N	lot Enroll	ed	72.30	В	6.00	1	Not Enroll	ed	N	ot Enroll	ed	N	lot Enrolle	ed	N	ot Enroll	ed	1	lot Enroll	ed	6.00	2.00	3.00	2.95
3	0179	KAINAT GUL	55.75	D+	3.99	81.50	Α-	10.98	57.80	C-	3.32	36.00	r'	0.00	64.70	C+	4.66	68.50	В-	2.66	68.40	В-	5.32	65.00	C+	6.99	37.92	16.00	2.23	1.94
4	0275	MOHAIB JONATHAN	61.00	С	6.00	73.60	В	9.00	63.50	С	4.00	78.00	B+	3.33	65.60	C+	4.66	65.00	C+	2.33	67.00	В-	5.32	71.50	В	9.00	43.64	17.00	2.57	2.23
5	0277	MOMNA FARID	90.05	A	12.00	91.50	А	12.00	88.30	A	8.00	80.00	A-	3.66	91.80	A	8.00	80.50	Α-	3.66	89.50	A	8.00	74.00	В	9.00	64.32	17.00	3.78	3.54
6	0278	SARA KHAN	88.25	Α	12.00	90.10	A	12.00	86.40	Α	8.00	89.00	Α	4.00	86.70	A	8.00	89.00	A	4.00	87.50	Α	8.00	87.00	A	12.00	68.00	17.00	4.00	3.54
7	0279	SANIA SOIIAIL	86.55	A	12.00	89,40	A	12.00	77.90	B+	6.66	76.00	В+	3.33	86.10	Α	8.00	83.00	A-	3.66	81.50	Α-	7.32	77.00	B+	9.99	62.96	17.00	3,70	3.21
8	0281	WARDAH ZAFAR	66.50	C+	6.99	80.00	Α-	10.98	76.10	B+	6.66	67.00	В-	2.66	70.50	В	6.00	78.50	B+	3.33	73.75	В	6.00	80.00	Α-	10.98	53.60	17.00	3,15	2.49
9	0282	NOOR UL HUDA	95.50	A	12.00	94.30	A	12.00	88.50	A	8.00	89.00	A	4.00	94.00	Α	8,00	85.00	A	4.00	93,50	A	8.00	87.00	A	12.00	68.00	17.00	4.00	3.57
10	0283	HUMDA LIAQUAT	81.50	Α-	10.98	88.10	A	12.00	77.80	B+	6.66	75.00	B+	3.33	74.10	В	6.00	75.00	В+	3.33	81.55	A-	7.32	78.50	B+	9.99	59.61	17.00	3.51	3.21
11	0284	AROONA GULZAR	91.50	A	12.00	90.60	A	12.00	89.10	A	8.00	83.00	Α-	3.66	93.70	Α	8.00	91.00	A	4.00	91.50	A	8.00	85.00	А	12.00	67.66	17.00	3.98	3.41
12	0285	SAMAN SAFDAR	81.25	Α-	10.98	86.40	A	12.00	79.50	B+	6.66	75.00	B+	3.33	75,40	B+	6.66	80.00	Α-	3.66	79.25	B+	6.66	82.00	Α-	10.98	60.93	17.00	3.58	2.97
13	0286	M.MEHDI ABBAS	68.00	В-	7.98	82.20	Α-	10.98	77.40	B+	6.66	81.00	Α-	3.66	53.00	D	2.00	70.00	В	3.00	75.75	B+	6.66	84.00	۸-	10.98	51.92	17.00	3.05	2.25
14	0287	ARHAMA JAVED	78.00	B+	9.99	86.50	A	12.00	76.20	B+	6.66	68.00	В-	2.66	84.10	Α-	7.32	64.00	C+	2.33	78.75	B+	6.66	65,50	C+	6.99	54.61	17.00	3.21	2.79

Errors & Omissions are Excepted System Generated Result

Result Notification: FALL 2019 DPT (16F) Semester Examinations

		Student Info		Medicine	i		Surgery-	ı	Ma	nual The	rapy	Ma	(LAB)	rapy	Radiolo	ogy & Diz Imaging		Radiole	ogy & Dia Imaging (LAB)		De Con	nian Gro velopmoi imunity l chabilitat	it & Based		ervised Cl Practice-I (LAB)			Re	sult	
			Cr.	Hrs	3.00	Cr.	Hrs	3,00	Cr.	Hrs	2.00	Cr	Hrs	1.00	.Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	3.00				
5#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGPA
15	0289	RAHIM ABDUL HUSSAIN	84.45	A-	10.98	90.10	A	12.00	81.10	Α-	7,32	75.00	В+	3.33	83.20	Α-	7.32	86.50	A	4.00	87.50	A	8.00	78.50	В+	9.99	62.94	17.00	3,70	3.00
16	0290	FATIMA RIAZ	85.75	А	12.00	87.40	A	12.00	78.70	В+	6.66	67.00	В-	2.66	79.80	B+	6.66	74.00	В	3.00	85.50	A	8.00	77.50	B+	9.99	60.97	17.00	3.59	3.24
17	0291	MARYAM JAMIL	76.30	В+	9.99	85.10	A	12.00	70.00	В	6.00	55.00	D+	1.33	75.30	B+	6.66	76.00	B+	3.33	78.75	B+	6.66	73.00	В	9.00	54.97	17.00	3.23	2.97
18	0292	KOMAL NADEEM	68.75	В-	7.98	78.90	B+	9.99	64.90	C+	4.66	25.00	F	0.00	65.50	C+	4.66	62.50	С	2.00	63.00	C	4.00	72.00	В	9.00	42.29	16.00	2.49	2.40
19	0293	SANIA RIZWAN	82.30	A-	10.98	85.70	A	12.00	71.50	В	6.00	90.00	A	4.00	80.90	Α-	7.32	71.00	В	3.00	69.50	В-	5.32	80.00	A-	10.98	59.60	17.00	3,51	2.73
20	0295	HAFSA ASHRAF	80.45	A-	10.98	86.10	A	12.00	72.60	В	6.00	75.00	B+	3.33	76.90	В+	6.66	82.50	Α-	3.66	78.90	B+	6.66	78.00	B+	9.99	59.28	17.00	3,49	2.59
21	0297	MISHAAL AHMAR	85.70	A	12.00	91.70	A	12.00	79.60	B+	6.66	81.00	Α-	3.66	87.00	A	8.00	76.50	B+	3.33	80.25	A-	7.32	77.00	B+	9.99	62.96	17.00	3.70	2.85
22	0298	AYESHA KHALID	81.95	Α-	10.98	86.90	A	12.00	74.30	В	6.00	87.00	A	4.00	74.10	В	6.00	72.00	В	3.00	76.00	B+	6.66	80.00	A-	10.98	59.62	17.00	3.51	2.93
23	0299	WAQAR ALI	72,00	В	9.00	86.00	А	12.00	74.40	В	6.00	81.00	A-	3,66	79.60	B+	6.66	80.50	Α-	3.66	76.00	B+	6,66	85.00	A	12.00	59.64	17.00	3.51	2.89
24	0300	KHUSHBAKHT IMTIAZ	83.80	Α-	10.98	88.30	A	12,00	79.80	B+	6.66	88.00	A	4.00	89,00	A	8.00	82.00	Α-	3.66	88.50	А	8,00	87.50	A	12.00	65.30	17.00	3.84	3.30
25	0301	AROOJ ABBASI	66.05	C+	6.99	85.10	A	12.00	66.60	C+	4.66	82.00	Λ-	3.66	70.80	В	6.00	67.50	B-	2.66	75.50	B+	6.66	67.50	B-	7.98	50.61	17.00	2.98	2.23
26	0302	AYESHA ALI	86.50	A	12.00	89.20	A	12.00	84.90	Α-	7.32	88.00	A	4.00	84,10	Α-	7.32	82.00	Α-	3.66	90.25	A	8.00	89.00	А	12.00	66.30	17.00	3.90	3.42
27	0303	ZUNAIRA	68.75	В-	7.98	83.70	Α-	10.98	62.80	С	4.00	67.00	В-	2.66	69.20	В-	5.32	70.00	В	3.00	80.75	Α-	7.32	70.00	В	9.00	50.26	17.00	2.96	2.44
28	0304	ZAINAB FATIMA	87.25	A	12.00	88.90	A	12.00	83.30	A-	7.32	88.00	A	4.00	87.90	A	8.00	85.00	A	4.00	89.00	A	8.00	77.50	B+	9.99	65.31	17.00	3.84	3.51

hi

13-3-2020

Result Notification: FALL 2019 DPT (16F) Semester Examinations

		Student Info	t	Medicine	-L		Surgery-	1	Ma	nual The	rapy	Ma	nual The (LAB)	rapy	Radiole	gy & Dia Imaging		Radiole	ogy & Dia Imaging (LAB)		De Con	man Gro velopmen munity l chabilitat	nt & Based		ervised Cl Practice-I (LAB)	11		Re	sult	
			Cr. Total (100)		3,00	Cr.	Hrs	3.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	3.00				
	Exam Roll#	Name		Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP
29	0306	MARYAM ASHRAF	75.25	B+	9.99	82.80	A-	10.98	69.60	B-	5.32	83.00	A-	3.66	74.40	В	6.00	77.00	В+	3.33	75.75	B+	6.66	76.00	В+	9.99	55.93	17.00	3.29	2.35
30	0307	MARYAM AWAN	73.60	В	9.00	87.20	A	12.00	73.50	В	6.00	75.00	B+	3.33	83.40	A-	7.32	71.00	В	3.00	78.75	B+	6.66	72.00	В	9.00	56.31	17.00	3.31	2.82
31	0308	ASMA HAMEED	76.50	B+	9,99	82.60	A-	10.98	66.10	C+	4.66	60.00	С	2.00	79.50	B+	6.66	71.00	В	3.00	73.50	В	6.00	75.00	B+	9,99	53.28	17.00	3.13	2.84
32		HASAN MASOOD KHAN	54.25	D+	3.99	68.10	В-	7.98	53.60	D	2.00	18.00	F	0.00	50.00	D	2.00	57.00	C-	1.66	54.50	D+	2.66	66.00	C+	6.99	27,28	16.00	1,60	1.97
33	0310	ARISHA SHAFIQ	80.40	Α-	10.98	87.60	A	12.00	72.00	В	6.00	60.00	С	2.00	80.00	A-	7.32	72.00	В	3.00	84.90	A-	7.32	79.00	B+	9.99	58,61	17.00	3,45	3.07
34	0312	ASMA BUTT	76.75	B+	9.99	86.80	A	12.00	81.40	Α-	7.32	85.00	A.	4.00	75.00	B+	6.66	80.00	Α-	3.66	72.50	В	6.00	82.00	Λ-	10.98	60.61	17.00	3,57	3.11
35	0320	ASIF KHAN	73.75	В	9.00	83.90	A-	10.98	72.40	В	6.00	70.00	В	3,00	62.70	С	4.00	73.50	В	3.00	78.90	B+	6.66	69.00	В-	7.98	50,62	17.00	2.98	2.37
36	0439	SAKINA ABBAS	77.50	B+	9,99	89.70	A	12.00	70.30	В	6.00	80.00	A-	3.66	70.70	В	6.00	70.00	В	3.00	78.00	B+	6.66	75.00	B+	9.99	57,30	17.00	3.37	3.06

In,



Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification : FALL 2019 DPT (16S) Semester Examinations

		Student Info	N	ledicine	-II	d	Surgery-	ii.	Neuro	ological P Therapy (LAB)		Prosth	eries &	Orthotics		tific Inquest			rch Meth (LAB)			ervised C Practice- (LAB)	IV		ROLOG ICAL TH			Re	sult	
			Cr.	Hrs	3.00	Cr.	Hrs	3.00	Cr.	Hrs	1.00	Cr	. Hrs	2.00	Cr.	Hrs	2.00	Cr.	. Hrs	1.00	Cr.	Hrs	3.00	-Cr.	Hrs	2.00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP.
1	0017	IJAZ ALI KHAN	N	ot Enroll	led	N	lot Enroll	ed	N	lot Enroll	ed	1	Not Enrc	ed	N	ot Enroll	ed	N	Not Enroll	ed	N	Not Enroll	ed	45.40	F	ail	-	-		
2	0221	RAMSHA ASHRAF	75.75	B+	9.99	78.40	B+	9.99	88.00	Α	4.00	73.10	В	6.00	66.75	C+	4.66	73.00	В	3.00	78.00	B+	9.99	64.60	C+	4.66	52.29	17.00	3.08	2.49
3	0224	SALEEM SHAZAD	64.70	C+	6.99	75.50	B+	9.99	76.00	B+	3.33	68.80	В-	5.32	61.50	С	4.00	70.00	В	3.00	80.50	Α-	10.98	54,35	DF	2.66	46.27	17.00	2.72	2.06
4	0236	ALISHBA SHEIKH	77.10	B+	9.99	78.80	B+	9.99	62.00	С	2.00	60.20	С	4.00	66.00	C+	4.66	75.00	B+	3.33	68.00	B-	7.98	52.20	D	2.00	43.95	17.00	2.59	2.86
5	0190	RABEEL AHMED	89.25	A	12.00	93.30	А	12.00	81.00	A-	3.66	91.50	A	8.00	85,00	A	8.00	86.00	A	4.00	85.50	A	12.00	75.90	B+	6 66	66.32	17.00	3.90	3.74
6	0317	MARIA NAEEM													Re	sult W	ithheld	d												
7	0246	KOMAL ISHTIAQ	92.60	A	12.00	90.30	А	12.00	93.00	Α	4.00	91.60	A	8.00	87.25	A	8.00	88.00	A	4.00	87.50	A	12.00	86.80	A	8.00	68.00	17.00	4.00	3.93
8	0249	AMINA FARID KHAN	93.65	A	12.00	91.70	A	12.00	88.00	А	4.00	91.20	A	8,00	79.00	В+	6.66	85.00	А	4.00	93.00	A	12.00	79.40	B+	6.66	65.32	17.00	3.84	3.88
9	0250	URWAH MASUD	81.75	A-	10.98	81.40	Α-	10.98	73.00	В	3.00	82.60	A-	7.32	72.50	В	6.00	80.00	A-	3.66	80.00	A-	10.98	68.40	В-	5.32	58.24	17.00	3,43	3.03
10	0251	MAIDA AZAM	84.65	A-	10.98	86.80	A	12.00	71.00	В	3.00	80.00	Α-	7.32	78.50	B+	6.66	82.00	Α-	3.66	80.00	A-	10.98	62.60	С	4.00	58.60	17.00	3.45	2.99
11	0252	SAMAN IFTAKHAR	88.70	Λ	12.00	90.90	Λ	12.00	75.00	B+	3.33	86.50	А	8.00	83.50	Λ-	7.32	85.00	A	4.00	81.50	۸-	10.98	85.00	Λ	8.00	65.63	17.00	3.86	3.62
12	0253	TABINDA SHAH	83.60	A-	10.98	84.50	A-	10.98	83.00	A-	3.66	78.60	B+	6.66	80.25	A-	7.32	86.00	A	4.00	84.00	A-	10.98	76.60	8+	6.66	61.24	17.00	3.60	3.67
13	0254	ANAM ANWAR	87.50	Α	12.00	87.10	Λ	12.00	77.00	B+	3.33	84.50	A-	7.32	74.50	В	6.00	76.00	В+	3.33	77.00	B+	9,99	68.00	B-	5.32	59.29	17.00	3.49	3.28
14	0255	NEMRA SIIAH	88.50	A	12.00	89.30	A	12.00	87.00	A	4.00	90.80	A	8.00	89.25	A	8.00	89.00	A	4.00	93.00	A	12.00	80.90	Α-	7.32	67.32	17.00	3.96	3.86

Errors & Omissions are Excepted System Generated Result

DEPARTMENT

Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification : FALL 2019 DPT (16S) Semester Examinations

		Student Info	N	ledicine-	11		Surgery-l	n	Neuro	ological P Therapy (LAB)		Prosth	erics & O	orthotics		tific Inqu ch Metho			rch Metho (LAB)			rvised C Practice-I (LAB)			ROLOG CAL TH			Re	sult	
			Cr.	Hrs	3.00	Cr.	Hrs	3.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs.	3.00	Cr.	Hrs	2.00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP.
15	0256	MAHAM NAEEM	86.85	А	12.00	85.20	A	12.00	73.00	В	3.00	75.20	B+	6.66	68.25	В-	5.32	76.00	В+	3.33	81.50	Α-	10.98	67.00	В-	5.32	58,61	17.00	3,45	2.93
16	0257	SHAKIR ABBASI	82.65	Α-	10.98	83.60	Α-	10.98	72.00	В	3.00	79,80	B+	6.66	71.75	В	6.00	80.00	Α-	3.66	73.50	В	9.00	73.00	В	6.00	56.28	17.00	3.31	3.41
17	0258	FARYAL SHAKOOR	83.40	A-	10.98	81.70	Α-	10.98	78.00	B+	3.33	73.50	В	6.00	72.75	В	6.00	81.00	Α-	3.66	80.50	A-	10.98	60.50	c	4.00	55.93	17.00	3.29	3.02
18	0261	MARIA SAGHEER	84.10	Α-	10.98	84.30	A-	10.98	79.00	В+	3.33	86.60	٨	8.00	74.25	В	6.00	76,00	В+	3.33	81.50	Α-	10.98	64.30	C+	4.66	58.26	17.00	3.43	3.19
19	0262	ANEELA TARIQ	79.35	В+	9.99	88.20	A	12.00	81.00	Α-	3.66	77.60	B+	6.66	74.25	В	6.00	78.00	B+	3.33	87.00	A	12.00	64.10	C+	4.66	58.30	17.00	3,43	3.16
20	0263	SANIA SAIF	84.65	Α-	10.98	88.30	Α	12.00	83.00	Α-	3.66	85.80	A	8.00	74.50	В	6.00	76.00	B+	3.33	86.50	Λ	12.00	71.90	В	6.00	61.97	17.00	3.65	3.30
21	0264	MISHEL UROOJ	86.70	A	12.00	82.80	Α-	10.98	65.00	C+	2.33	78.50	В+	6.66	77.25	В+	6.66	83.00	Α-	3.66	78.00	В+	9.99	70.30	В	6.00	58.28	17.00	3.43	3.17
22	0265	MUNAZZA PERVEZ	87.75	A	12.00	88.50	A	12.00	71.00	В	3.00	88.10	A	8.00	72.75	В	6.00	75.00	B+	3.33	85.00	A	12.00	69.70	В-	5.32	61.65	17.00	3.63	3.44
23	0266	MUNAZA REHMAN	61.00	С	6.00	74.50	В	9.00	68.00	В-	2.66	61.70	С	4.00	52.00	D	2.00	70.00	В	3.00	74.00	В	9.00	50.00	D	2.00	37.66	17.00	2.22	1.98
24	0267	AFIA ASGHAR	74.90	В	9.00	79.70	B+	9.99	62.00	С	2.00	70.00	В	6.00	63.75	С	4.00	75.00	B+	3.33	72.00	В	9.00	57.10	C-	3.32	46.64	17.00	2.74	2.72
25	0268	SAJAL KHAN	76.50	B+	9.99	76.90	B+	9.99	67,00	В-	2.66	77.20	B+	6.66	65.00	C+	4.66	75.00	В+	3.33	77.50	B+	9,99	58.35	C-	3.32	50.60	17.00	2.98	2.44
26	0269	RIDA ZAHRA BUTT	81.10	A-	10.98	82.00	A-	10.98	65.00	C+	2.33	69.60	В-	5.32	68.75	В-	5.32	76.00	B+	3.33	70.50	В	9.00	67.60	В-	5.32	52.58	17.00	3.09	2.99
27	0270	SHERYAR KHAN	83.85	Λ-	10.98	88.20	Λ	12.00	81.00	Λ-	3.66	83.80	Α-	7.32	75.00	B+	6.66	83.00	A-	3.66	90.50	A	12.00	74.95	В	6.00	62,28	17.00	3.66	3.06
28	0271	MEHAK SAJJAD	91.80	A	12.00	93.30	А	12.00	81.00	Α-	3.66	95.30	A	8.00	90.25	A	8.00	86.00	A	4.00	81.50	Α-	10.98	87.30	A	8.00	66.64	17.00	3.92	3.69

Errors & Omissions are Excepted System Generated Result

DEPARTMENT DEPARTMENT

Result Notification: FALL 2019 DPT (16S) Semester Examinations

		Student Info	,	dedicine-	11		Surgery-I	1	Neuro	logical Pl Therapy (LAB)		Prosth	erics & O	rthotics		tific Inqu ch Metho			rch Metho (LAB)			rvised Cl ractice-l (LAB)			ROLOG ICAL TH			Re	sult	
			Cr.	Hrs	3.00	Cr.	Hrs	3.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	3.00	Cr.	Hrs	2.00				
S#	Exam Roll#	Name	Total (106)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGP/
29	0272	MOMNA AYAZ	81.35	A-	10.98	83.90	Α-	10.98	82.00	A-	3.66	89.90	А	8.00	80.25	A-	7.32	81.00	Α-	3.66	85.00	A	12.00	73.90	В	6.00	62.60	17.00	3,68	3.43
30	0393	OMAIRAH AIEN	79.55	B+	9.99	89.50	А	12.00	79.00	B+	3.33	83.90	A-	7.32	73.00	В	6.00	81.00	Α-	3.66	91.00	А	12.00	75.80	B+	6.66	60.96	17.00	3.59	3.57





Result Notification: FALL 2019 DPT (15F) Semester Examinations

		Student Info		diopulme sical The			diopulmo sical The (LAB)	rapy	Primary		edures & Physical	Eviden	ce Based	Practice	Eviden	ce Based (LAB)	Practice	(Li	ssional P ws, Ethi ministra	es &	Integu	mentary Therapy			rvised C Practice- (LAB)	V		Decision rential I			Res	sult	
			Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Grade Point Not Enrolled		-Cr.	Hrs	2.00	Cr	Hrs	1.00	Cr.	Ilrs	2.00	Cr.	Hrs	2.00	Čr.	Hrs	3.00	Cr.	Hrs	3.00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grude	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGPA
i	0160	FATIMA KHARAL	N	ot Enroll	ed	N	lot Enroll	ed	N	ot Enroll	ed	1	lot Enroll	ed	1	Not Enroll	ed	N	ot Enroll	ed	1	ot Enroll	cd	N	ot Enroll	ed	65.40	C+	6.99	6.99	3.00	2.33	2.11
2	0202	AMNA ANWAR	79.65	B+	6.66	81.00	A-	3.66	90.90	A	8.00	81.50	Α-	7.32	83.00	Α-	3.66	88.25	A	8.00	94.60	A	8.00	70.00	В	9.00	84.45	Α-	10.98	65,28	18.00	3.63	3.56
3	0203	MISBAH NADEEM	85.55	٨	8.00	88.00	٨	4.00	87.00	A	8.00	78.25	B+	6.66	82.00	Λ-	3.66	84.75	۸-	7.32	92.00	۸	8.00	85.00	۸	12,00	77.10	В+	9.99	67.63	18.00	3.76	3.51
4	0204	HUMAIRA BIBI	69.45	B-	5.32	86.00	A	4.00	78.00	В+	6.66	62.25	С	4.00	75.00	B+	3.33	78.50	B+	6.66	87.00	A	8.00	78.00	B+	9,99	67.75	В-	7.98	55,94	18.00	3,11	2.91
5	0205	MUHAMMAD HASNAIN ALAM	70.95	В	6.00	85.00	٨	4.00	71.20	В	6.00	65.50	C+	4,66	73,00	В	3.00	76.25	B+	6.66	78.60	B+	6,66	85.00	٨	12.00	73.08	В	9.00	57.98	18.00	3.22	3.19
6	0207	SANA MEHBOOB	76,40	B+	6.66	89.00	A	4.00	78.35	B+	6.66	82.50	Α-	7.32	90.00	A	4.00	83.00	Α-	7.32	90.00	A	8.00	85.00	A	12.00	84.70	Α-	10.98	66.94	18.00	3.72	3.62
7	0208	RAMEESHA QAZI	78,60	B+	6.66	80.00	۸-	3.66	89.50	Α	8.00	69.75	В-	5.32	80.00	Λ-	3.66	88.00	٨	8.00	85.90	A	8.00	81.00	۸-	10.98	81.85	۸-	10.98	65.26	18.00	3.63	2.97
×	0209	SAHER FATMI	76.55	B+	6.66	80.00	Α-	3.66	82.60	Α-	7.32	69.75	В-	5.32	76.00	B+	3.33	82.75	Α-	7.32	86.10	A	8.00	80.00	A-	10.98	68.75	В-	7.98	60.57	18.00	3.37	3.00
9	0211	ZAHRA SUNDAS	66.20	C+	4.66	80.00	Α-	3.66	68.70	В-	5.32	58.75	C-	3.32	67.00	В-	2.66	75.75	B+	6.66	81.30	A-	7.32	68.00	В-	7.98	59.45	C-	4.98	46,56	18.00	2.59	2.60
10	0212	FATIMA GUL	85.20	٨	8.00	93.00	Α	4.00	93.35	Λ	8.00	85.50	A	8.00	90.00	٨	4.00	88.25	٨	8.00	93.60	٨	8.00	95.00	٨	12.00	83.71	Λ-	10.98	70.98	18.00	3.94	3.79
11	0214	TUBA RAZA	84.05	Α-	7.32	86.00	A	4.00	89.00	A	8.00	83.50	Α-	7.32	85.00	A	4.00	90,25	A	8.00	93.30	A	8.00	75.00	B+	9.99	86.83	A	12.00	68.63	18.00	3.81	3.57
12	0215	ZEESHAN MAHMOOD	63.90	С	4.00	80,00	۸-	3.66	68.25	В-	5.32	56.25	D+	2.66	70.00	В	3.00	74.25	В	6.00	78.40	B+	6.66	75.00	B+	9,99	62.00	c	6.00	47.29	18.00	2.63	2.64
13	0216	MASOOD IRSHAD	64.50	C+	4.66	70,00	В	3.00	66.55	C+	4.66	62.25	С	4.00	67.00	В-	2.66	71.75	В	6.00	75.60	B+	6.66	67.00	В-	7,98	53.30	D	3.00	42.62	18.00	2.37	2.06
14	0217	ZUNERA ARSHAD	67.40	B-	5.32	89.00	Α	4.00	76.20	B+	6.66	64.75	C+	4.66	82.00	۸-	3,66	83.50	A-	7.32	90.10	٨	8.00	80.00	Α-	10.98	76.90	B+	9.99	60.59	18.00	3.37	2.73

Errors & Omissions are Excepted System Generated Result ENAMINATIONS DEPARTMENT 13-3-2020

Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification : FALL 2019 DPT (15F) Semester Examinations

		Student Info		diopulme sical The			diopulmo sical The (LAB)		Primary	ncy Proce Care in Therapy	Physical	Eviden	ce Based	Practice	Eviden	ce Based (LAB)	Practice	(L	ssional P tws, Ethi- ministrat	es &		mentary Therapy			rvised Cl Practice- (LAB)			l Decision erential E			Re	esult	
			Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hes	3.00	Cr.	Hrs	3.00				
Sii	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned		CGPA
15	0218	BUSHRA SAIF	70.75	В	6.00	88.00	A	4.00	79.55	B+	6.66	72.50	В	6.00	80.00	Α-	3,66	83.75	A-	7.32	82.60	Α-	7.32	85.00	A	12.00	78.08	B+	9.99	62,95	18.00	3,50	3.17
16	0219	MAHNOOR SHAUKAT	71.00	В	6.00	90.00	A	4.00	82.25	A-	7.32	64.25	C+	4.66	76.00	B∸	3.33	82.75	A-	7.32	80.80	Α-	7.32	81.00	Α-	10.98	77.35	B+	9.99	60.92	18.00	3.38	3.03
17	0220	MUNEEBA FATIMA TARIQ	76.55	B+	6.66	86.00	٨	4.00	86.30	٨	8.00	70.00	В	6.00	75.00	B+	3.33	80.25	Λ-	7.32	87.30	٨	8.00	88.00	Α	12.00	77,45	B+	9.99	65.30	18.00	3,63	2.88
18	0225	MUHAMMAD NAEEM	63.60	С	4.00	78.00	B+	3.33	68.50	В-	5.32	57.00	C-	3,32	61.00	С	2.00	73.50	В	6.00	71.60	В	6.00	71.00	В	9.00	65.95	C+	6.99	45.96	18.00	2.55	3.01
19	0226	SHEHNAZ MEHJOOR	68.75	В-	5.32	78.00	B+	3.33	82.20	A-	7.32	58.25	C-	3.32	76.00	B+	3.33	76.25	B+	6.66	84.20	۸-	7.32	75.00	B+	9,99	70.75	В	9.00	55.59	18.00	3.09	2.63
20	0227	ABEERA CHUGHTAI	82.40	Α-	7.32	85.00	A	4.00	85.00	A	8.00	77.75	B+	6.66	82.00	Α-	3.66	82,00	Α-	7.32	87.40	A	8.00	81.00	Α-	10.98	81.00	Α-	10,98	66.92	18.00	3.72	3.53
21	0228	SHAZMEEN	75.80	B+	6.66	83.00	Α-	3.66	79.20	B+	6.66	74.00	В	6.00	80.00	Λ-	3.66	84.75	Α-	7.32	92.00	A	8.00	80.00	Λ-	10.98	76.53	Ві	9.99	62.93	18.00	3.50	3.14
22	0230	KHAJISTA IFTIKHAR	77.80	B+	6.66	87.00	A	4.00	73.90	В	6.00	72.00	В	6,00	73.00	В	3.00	83.75	A-	7.32	84.00	А-	7.32	80.00	Α-	10.98	73.45	В	9.00	60.28	18.00	3.35	2.77
23	0232	FARAII AFRIDI	85.95	A	8.00	87.00	Α	4.00	90.60	A	8.00	85.25	A	8.00	85.00	A	4.00	86.50	A	8.00	93.80	Α	8.00	85.00	A	12.00	88.40	A	12.00	72.00	18.00	4.00	3.65
24	0233	DANISH ATTIQUE	79.75	B+	6.66	76.00	B+	3.33	77,10	B+	6.66	64.75	C+	4.66	77.00	B+	3.33	77.75	B+	6.66	83.50	Λ-	7.32	71.00	В	9.00	67.50	В-	7.98	55.60	18.00	3.09	2.56
25	0235	RIMSHA BASHARAT	81,90	Α-	7.32	81.00	Α-	3.66	85.00	A	8.00	80.75	A-	7,32	86.00	A	4.00	86.00	A	8.00	90.30	A	8.00	86.00	A	12.00	81,75	A-	10.98	69.28	18.00	3.85	3.41
26	0237	SHAHRUKH PERVEZ	73.15	В	6.00	77.00	В+	3.33	70.05	В	6.00	64.25	C+	4.66	77.00	B+	3.33	75.75	B+	6.66	84.60	Α-	7.32	71.00	В	9.00	76.72	B+	9.99	56.29	18.00	3.13	2.71
27	0238	SADIA BATOOL	70.40	В	6.00	76.00	B+	3.33	81.30	Α-	7.32	75.00	B+	6.66	80.00	Α-	3.66	81.50	A-	7.32	85.20	A	8.00	85.00	A	12.00	76.60	B+.	9.99	64.28	18.00	3.57	2.70
28	0239	MEHREEN ABID	82.20	Λ-	7.32	75.00	B+	3.33	90.75	٨	8.00	81.50	Α-	7.32	85.00	٨	4.00	85.00	Α	8.00	91.30	Λ	8.00	77.00	B*	9.99	87.15	٨	12.00	67.96	18.00	3.78	3.69

Errors & Omissions are Excepted System Generated Result

EXAMINATIONS DEPARTMENT

Result Notification: FALL 2019 DPT (15F) Semester Examinations

		Stude	lent info		diopulmo stcal The			diopulmo sical The (LAB)			Care in Therapy	Physical	Eviden	ce Based	Practice	Eviden	ce Based (LAB)	Practice	(1.4	ssional Pr ws, Ethic ministrat	es &		nentary I Therapy			Practice-V (LAB)			Decision rential D			Re	exult	
				Cr.	Hrs	2.00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	2,00	Cr.	Hrs	1.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hes	3.00	Çr.	lirs	3.00				
Sii	F.xar Roll		Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGI
29	0240	0 AQS	SA ASIF	89.45	A	8.00	87.00	Ā	4.00	90.00	A	8.00	83.75	Α-	7.32	85.00	A	4.00	84.75	A-	7.32	93.70	A	8.00	85.00	A	12.00	86.00	A	12.00	70.64	18.00	3,92	3.5
30	024	1 RAM	MSHA ALI	80.45	A-:	7.32	88.00	A	4.00	87.70	A	8.00	79.25	B+	6.66	81.00	Α-	3.66	84.00	Α-	7.32	86.50	A	8.00	77.00	B+	9,99	84.85	Á-	10.98	65.93	18.00	3.66	3.2
31	019	RAV	VISH BINT OOR	67.35	В-	5.32	75,00	B+	3.33	72.00	В	6.00	62.50	C	4.00	62.00	c	2.00	76.25	B+	6.66	81.00	۸-	7.32	77.50	B+	9.99	69.35	В-	7.98	52.60	18.00	2.92	2.23
32	0192	2 R1D/	A FATIMA	2	ot Enrolle	:d	N	ot Enrolle	ed	N	ot Enrolle	d	58.50	C-	3.32	72.00	В	3.00	N	ot Enrolle	:d	N	ot Enrolle	d	N	ot Enrolle	d	N	ot Enrolle	d	6.32	3.00	2,11	2.22
33	0194	4 SAIR	RA MUZAFFAR	74.95	В	6.00	82.00	Λ-	3.66	79.65	B+	6.66	71.25	В	6,00	82.00	۸-	3.66	76.25	B+	6.66	85.30	٨	X.00	70.00	В	9.00	75.85	В+	9.99	59.63	18.00	3.31	2.77
34	0197	7 SAR	A HAMID QAZI	N	ot Enrolle	d	N	ot Enrolle	ed	N	ot Enrolle	d	61.25	С	4,00	N	ot Enrolle	ed	N	ot Enrolle	d	N	ot Enrolle	d	N	ot Enrolle	d	N	ot Enrolle	d	4.00	2.00	2.00	2.33
35	0316	6 QUN	NDEEL ZAFAR	78.30	B+	6.66	85.00	٨	4.00	87.05	٨	8.00	70.50	В	6.00	81.00	۸-	3.66	79.00	B+	6.66	85.50	٨	8.00	85.00	۸	12.00	83.15	Λ-	10.98	65.96	18.00	3.66	3.23
36	0394	4 SAN	IILA SIAL	79.60	B+	6.66	87.00	A	4.00	81.75	A-	7.32	73.75	В	6.00	80.00	Α-	3.66	80.50	Α-	7.32	87.60	A	8.00	89.00	A	12.00	77.46	B+	9.99	64.95	18.00	3.61	3.47
37	0395	5 RIDA	A HASSAN	77.70	В+	6.66	85,00	A	4.00	87.70	Α.	8,00	74.50	В	6.00	83.00	Α-	3.66	82.75	Α-	7,32	88.00	A	8,00	81.00	A-	10.98	78.75	B+	9.99	64.61	18.00	3.59	3.39
38	0396	6 SIDR	RA ZAIB	79.75	B+	6.66	86.00	٨	4.00	90.86	٨	8.00	82.00	Α-	7.32	88.00	Λ	4.00	84.25	Α-	7.32	89.40	۸	8.00	85.50	۸	12.00	83.90	Α-	10.98	68.28	18.00	3.79	3.46
39	0397	7 МЕН	HWISH ABID	81.00	Α-	7.32	87.00	A	4.00	88.25	A	8.00	76.00	B+	6.66	86.00	A	4.00	90.00	A	8.00	90.30	А	8.00	89.50	А	12.00	87.10	A	12.00	69.98	18.00	3.89	3.56

hu

EXAMINATIONS DEPARTMENT 13-3-2020 DATE

Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification : FALL 2019 DPT (15S) Semester Examinations

		Student Info		Obstetrics ological F Therapy	hysical	Sports	Physical 7	Therapy	Paec	liatric Ph Therapy			ology & (Practice-V (LAB)		Res	earch Pro (LAB)	oject		Re	suIt	
			Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	4.00	Cr.	Hrs	6.00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA	CGPA
1	0160	FATIMA KHARAL	63.75	С	4.00	74.20	В	6.00	65.30	C+	4.66	66.90	C+	4.66	60.50	C	8.00	81.50	Α-	21.96	49.28	18.00	2.74	2.11
2	0169	ANUM NISAR	84.25	A-	7.32	80.20	A-	7.32	72.20	В	6.00	81.75	A-	7.32	68.50	B-	10.64	86.00	A	24.00	62.60	18.00	3.48	3.06
3	0170	ASMA RAZIQ	76.75	B+	6.66	77.60	B+	6.66	65.70	C+	4.66	73.45	В	6.00	72.50	В	12.00	81.00	A-	21.96	57.94	18.00	3.22	3.22
4	0171	AZHAR AKRAM	57.50	C-	3.32	71.10	В	6.00	54.70	D+	2.66	61.40	С	4.00	67.00	B-	10.64	78.50	B+	19.98	46.60	18.00	2.59	2.22
5	0172	ERAM NISAR	86.00	A	8.00	82.60	A-	7.32	73.90	В	6.00	88.70	A	8.00	63.00	С	8.00	80.00	A-	21.96	59.28	18.00	3.29	3.17
6	0173	FAHEEM DAD KHAN	68.75	B-	5.32	83.90	A-	7.32	64.00	C+	4.66	68.60	B-	5.32	75.00	B+	13.32	80.50	A-	21.96	57.90	18.00	3.22	2.86
7	0174	FAKIHA FATIMA	81.25	A-	7.32	78.30	B+	6.66	68.00	В-	5.32	78.20	B+	6.66	73.00	В	12.00	81.50	A-	21.96	59.92	18.00	3.33	3.21
8	0175	GULBAKHT FATIMA	60.25	С	4.00	84.50	A-	7.32	68.80	B-	5.32	67.25	B-	5.32	64.50	C+	9.32	85.50	А	24.00	55.28	18.00	3.07	2.53
9	0176	HAFSA FATIMA	86.25	A	8.00	83.90	A-	7.32	77.70	B+	6,66	89.05	A	8.00	80,50	A-	14.64	85.00	A	24.00	68.62	18.00	3,81	3.60
10	0177	HIFZA ARSHAD	82.00	A-	7.32	82.50	A-	7.32	77.90	B+	6.66	76.05	B+	6.66	81.00	A-	14.64	81.00	A-	21.96	64.56	18.00	3.59	3.28
11	0178	IQRA ARBAB	75.50	B+	6.66	80.80	A-	7.32	66.20	C+	4.66	71.50	В	6.00	65.50	C+	9.32	84.00	A-	21.96	55.92	18.00	3.11	2.95
12	0180	KAINAT TAHIR	78.00	B+	6.66	83.20	A-	7.32	65.60	C+	4.66	66.50	C+	4.66	66.00	C+	9.32	78.00	В+	19.98	52.60	18.00	2.92	2.90
13	0182	MAHA NIAZI	69.75	B-	5.32	82.60	A-	7.32	69.40	B-	5.32	71.75	В	6.00	72.00	В	12.00	83.50	A-	21.96	57.92	18,00	3.22	3.11
14	0184	MARIA MEHWISH	77.75	B+	6.66	78.80	B+	6.66	71.60	В	6.00	78.65	B+	6.66	75.50	B+	13.32	75.00	B+	19.98	59.28	18.00	3.29	3.15

Errors & Omissions are Excepted System Generated Result

Shifa Tameer-e-Millat University, Islamabad Department of Physical Therapy Result Notification : FALL 2019 DPT (15S) Semester Examinations

		Student Info		Obstetrics ological F Therapy	hysical	Sports	Physical 7	Therapy	Paec	liatric Ph Therapy	ysical		ology & C			rvised Cl ractice-V (LAB)		Res	earch Pro (LAB)	oject		Re	sult	
			Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	2.00	Cr.	Hrs	4.00	Cr.	Hrs	6.00				
S#	Exam Roll#	Name	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total (100)	Grade	Point	Total Points	Total Credits Earned	GPA_	CGPA
15	0185	MUDASSAR ROOH UL MUAZZAM	85.00	A	8.00	89.20	A	8.00	79.40	B+	6.66	89.65	A	8.00	88.00	Α	16.00	87.00	A	24.00	70.66	18.00	3.93	3.75
16	0186	MUSARAT MUNIR	69.50	В-	5.32	78.40	B+	6.66	78.80	B+	6.66	75.20	B+	6.66	67.50	В-	10.64	84.00	A-	21.96	57.90	18.00	3,22	3.26
17	0188	NOOR UL AIN	91.25	А	8.00	90.60	A	8.00	77.60	B+	6.66	87.55	A	8.00	81.50	A-	14.64	86.00	A	24.00	69.30	18.00	3.85	3.77
18	0189	PALWASHA SHABBIR	83.25	A-	7.32	84.40	A-	7.32	71.20	В	6.00	92.10	Α	8.00	80.00	A-	14.64	77.50	В+	19.98	63.26	18.00	3.51	3.25
19	0192	RIDA FATIMA	72.75	В	6.00	83.40	Α-	7.32	59.30	C-	3,32	70.65	В	6.00	63.00	С	8.00	84.00	A-	21.96	52.60	18.00	2.92	2.22
20	0193	RUQIA KHAN	68.50	B-	5.32	75.50	B+	6.66	67.60	В-	5.32	64.30	C+	4.66	60.50	С	8.00	78.00	B+	19.98	49.94	18.00	2.77	2.57
21	0195	SALMA ABBAS	93.00	A	8.00	90.00	A	8.00	84.20	A-	7.32	95.85	A	8.00	86.00	Α	16.00	86.00	A	24.00	71.32	18.00	3.96	3.69
22	0196	SANA MOHSIN	78.75	B+	6.66	85.40	A	8.00	69.30	B-	5.32	77.60	B+	6.66	73.00	В	12.00	81.50	A-	21.96	60.60	18.00	3.37	3.20
23	0197	SARA HAMID QAZI	56.00	D+	2.66	76,00	B+	6.66	52.70	D	2.00	67.65	B-	5,32	60.00	С	8.00	81.50	A-	21.96	46.60	18.00	2.59	2.33
24	0198	SIDRA ABBAS	81.25	A-	7.32	81.70	A-	7.32	73.60	В	6.00	83.10	A-	7.32	70.00	В	12.00	85.00	A	24.00	63.96	18.00	3.55	3.36
25	0199	SPARLA GUL	82.25	A-	7.32	84.40	A-	7.32	75.50	B+	6.66	79.85	В+	6.66	75.00	B+	13.32	75.50	В+	19.98	61.26	18.00	3.40	3.18
26	0200	ZAINAB SHARIF	73.50	В	6.00	78.50	B+	6.66	67.00	B-	5.32	73.80	В	6.00	62.00	С	8.00	77.50	В+	19.98	51.96	18.00	2.89	3.43
27	0319	USWA EHSAN	86.25	A	8.00	85.10	А	8.00	81.00	A-	7.32	82.10	A-	7.32	83.00	Α-	14.64	85.00	А	24.00	69.28	18.00	3.85	3.77

